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SEAT NO. SUPERVISOR’S SIGN :

UNIVERSITY OF MUMBATI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
POST GRADUATE DIPLOMA IN BUSINESS MANAGEMENT (PGDBM)
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DATE : 29-JUL-17 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

NOTE: 1) EACH CORRECT ALTERNATIVE SHOULD BE CIRCLED
2) EACH QUESTION CARRIES 1 MARK
3) NO NEGATIVE MARKINGS

Analogy
[) Show the relationship (3)

1. ‘Bank’ is related to ‘Money’ in the same way as ‘Transport ‘is related to

(A) Goods (B ) Road
(C)Movement (D) Traffic
2. ‘Fan’isrelated to ‘Wings’ in the same way as ‘Wheel’ is related to
(A)Round (B ) Cars
(C ) Spokes (C) Moves
3. Tree is related to ‘Root’ in the same way as’ Smoke’ is related to
(A) Cigarette (B) Fire
(C) Heat (D) Chimney

1) In the following questions, choose the missing word in place of sign (?) on the basis of the
relationship between the words given on the left/right hand side of the signs. (3 )
1. Doctor: Nurse :: ?: Follower

(A') Worker (B) Employer
(C) Union (D) Leader
2. Good:Bad:: Virtue :?
(A )Blame (B)Sin
(C) Despair (D) Vice
3. Bird: Fly::Snake :?
(A) Timid (B) Clatter
(C)Crawl (D) Hole
I11) Reasoning (3)
Find the next number in the Series:
1. -1,4,9,16,25,
2. 87,80,74,69,
3. 1,326,120,
IV) Relationships (2)

1. Introducing a girl, Ramprasad said , “her mother is the only daughter of my Mother-in-law.”
How is Ramprasad related to the girl?

A) Father B) Husband C) Brother D) cannot be determined Re-.1....P.T.0;




2. Shefaliis the sister of the son of Alok’s son. How is shefali related to Alok?

A) Sister B) Grandmother C) Niece D) Grandaughter

V) Choose the word similar in meaning: (2)

1. Abandon: (1) accept (2) reject (3) leave {4) eject

2. Accommodate : (1) adapt (2) adopt (3) stay (4) pleasant.
VI) Choose the word opposite in meaning: (2)

1. Aggravate :
(1) irritate (2) inspire (3) mitigate (4)levitate

2 Barbarous :
(1) civilized (2) rude (3) barbarian ( 4) barren

VI) Find out the word spelt correctly from amongst those given below : (5)

1. (1) mischievious (2) mischevious (3) mischeiovous (4) mischievous
2. (1) convineince (2) convinience (3) conveneince (4)convenience
3. (1) newmonia (2) pneumonia (3) pneumonea (4) pnueinoania
4. (1) queue (2) geueu (3) queeu (4) quue

5. (1) receve (2) receive (3)recive (4) recieve
VIIl) Read the following passage carefully and answer the questions given below it: (10)

The public distribution system, which provides food at low prices, is a suhiect of vital
concern. There is a growing realization that though India has enough foo«! to feed

its masses two square meals a day, the monster of starvation and food insecurity continues
to haunt the poor in our country.

Increasing the purchasing power of the poor through providing productive employment
leads to rising income, and thus good standard of living is the ultimate objective of public
policy. However, till then, there is a need to provide assured supply of food through a
restructured ,more efficient and decentralized Public Distribution Systeri (PDS)

Although the PDS is extensive - it is one of the largest system in the world — it has yet to
reach the rural poor and far — off places. It remains an urban phenomenon, with the
majority of the rural poor still out of its reach due to lack of economic and physical access.

The poorest in the cities and migrants are left out, for they generally do not possess ration Pg-—2PTO



cards. The allocation of PDS supplies in big cities is larger than in rural areas.

In view of such deficiencies in the system, the PDS urgently needs to be streamlined. Also
considering the large food grains production combined with food subsidy on one hand and the
Continuing slow starvation and dismal poverty of the rural population on the other, there

Is a strong case of making PDS target — group oriented.

The growing salaried class is provided job security, regular income and social security.

It enjoys-almost hundred percent insulation against inflation . The gains of development
have not percolated down to the vast majority of our working population if one
Compares only dearness allowance to the employees in public and private sectors and
looks at its growth in the past few years, the rising food subsidy is insignificant to the
Point of inequity. The food subsidy is a kind of DA to the poor,the self-employed and
those in the unorganized sector of the economy. However, what is most unfortunate is
that out of the large budget of the so — called food subsidy, the major part of it is
administrative cost and wastages. A small portion of the above budget goes to the real
consumer and an even lesser portion to the poor who are in real need.

1. Which of the following, according to the passage is true of public distribution system?
A) Itis unique in the world because of its effectiveness.
B) It has remained effective only in the cities
C) It has reached the remotest corner of the country
D) It hasimproved over the years
2. Which of the following, according to the passage, is the main reason for insufficient
Supply of enough food to the poorest?
A) Production of food is less than the demand
B) Government’s apathy towards the poor
C) Absence of proper public distribution system
D) Mismanagement of food stocks
3. Which according to the passage , is the main purpose of public policy in the long run?
A) Good standard of living through productive employment
B) Providing enough food to all the citizens
C) Reducing the cost of living index by increasing supplies
D) Equalizing per capita income across different strata of society
4. Which of the following words is the same as the word ‘cut’ as given in the passage?
A) Reduce B)Damage C) Loss D) Cease
5. The author’s writing style is
A ') simplistic B) argumentative C)verbose D) analytic
6. What according to the passage ,should be an appropriate step tc make the PDC effective?
A) Toincrease the amount of food grains available for distribution
B) To increase the amount of food grains per ration card
C) Toreduce administrative cost
D) To make it target —group oriented
7. Which of the following words is the same in meaning as the word power’ as used in the
passage?
A) Energy B)vigour C) Authority D) Capacity
8. What, according to the passage, would be the outcome of making the PDS target- group
oriented? Pe~3P.T.0



A) It will remove poverty

B) It will give food to the poorest without additional cost

C) It will abolish the imbalance of urban and rural areas

D) It will motivate the target group population at work

Which of the following words is the same in meaning as the word ‘system’ as used in the
passage?

A) Mechanism B) Routine C) Machine D) Procedure

10. According to the passage, food subsidy leads to which of the following?

A) Shortage of food grains

B) Decrease in food grains production
C) Increased dependence

D) Sense of insecurity

IX) General Knowledge: (10)
1. The current finance minister of in India is :
A) Moraraji Desai B) TT Krishnamachari 3) Pranab Mukherjee 4)Arun Jaitely
2. Current prime minister of Maharashtra:
A) Narendra Modi B) Devendra Fadnavis C)Amit shah D) none of the above
3. Shillong is the capital of:
A) Meghalaya B) Nagaland C) Mizoram D) Tripura
4. Kalari payattu is the martial art of:
A) Karnataka B)Kerala C)Maharashtra D) Bengal
5. The father of Indian renaissance is :
A) Raja Ram Mohan Roy B) Mahatma Gandhi C) Jawaharlal Netiru D) Bal GangadharTilak
6. The central banking functions are performed by the
A) Central Bank of India B) Reserve Bank of India
C ) State Bank of India D) Punjab National Bank
7. A) India won its first Olympic hockey gold in
A) 1928 B)1932 ()1936 D) 1948
8. Which of the following is used in pencils?
A ') graphite B) silicon C) Charcoal D) phosphorous
9. The India’s highest annual rainfalll is reported at

X)

A) Namchi- Sikkim B) churu — Rajasthan
c) Mawsynram — Meghalaya D) Chamba — Himachal Pradesh

10. Which of the following is not associated with the UNO

A) ILO B) WHO C)ASEAN D) All of the above
Communications: (5)

1) Which of the following initiates the process of communication

A) Sender B)Decoder C) Receiver D) Medium
2) Feedback is a listener’s

A) Acceptance of message B) Aversion to message

c) verbal critique of your message D) Verbal or non verbal response to a message
3) Communication can be sent through a variety of channels that include

A) Oral B) Written C) Electronic D) All of these Pe—4 P.T.0.




4) Communicators can improve their skills by
A) Making persuasive presentation B) Making use of language
c) Sending non verbal messages D) All of the above
5) Which of the following was the first news paper of India?
A) The Times of India B) Maratha Kesari
C) Bengal Gazette D) The Hindu

XI)  Information Communication Technology (5)

Which of the following is NOT one of the four major data processing functions of a computer
A) Gathering data B) processing data into information

c) Analyzing the data or information D) storing the data or information

All of the following are examples of input devices EXCEPT a

A) Scanner B)mouse C) keyboard D) printer

Hile . T also called the brain of the computer, responsible for processing data

A) Motherboard B) memory C)RAM D) Central processing unit (CPU)

The CPU and memory are located on the

A) Expansion board B) motherboard C) storage device D) output device

Which are specially designed computers that performs complex calculations extremely rapidly?
A) Servers B) Supercomputer C)laptops D)Mainframes
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Which online grievance redressal portal has been launched by Union Railway
Ministry for railway employees?
a) Aakalan b) Sahyog c¢) Nivaran d) Sahayata

Tax department has notified rules for the FMV of listed companies on basis of a
formula. What does the formula include for listed companies?

a) Market cap b) Book value of liabilities

¢) Total number of shares d) All of the above

The National Doctor’s Day is celebrated on which date in India?
a) June 30 b) July 5 c) July 6 d) July 1

Ramchandra Chintaman Dhere, who passed away recently, was a famous writer of
which language?
a) Marathi b) Urdu ¢) Tamil d) Telugu

The Kawal Tiger Reserve (KTR) is located in which state of India?
a) Assam b) Kerala c¢) Telangana d) Chhattisgarh

Innovation means
a) Compensation  b) Inspiration c) Additional perquisites
d) Implementing new ideas or new methods

For the first time, in which of the following General elections, voting rights by the
youths at the age of 18 years was exercised?

a) 1987 b) 1988 c) 1989 d) 1990
Which country has won the Sultan Azlan Shah Cup for the year 2016?

a) India b) Australia c) New Zealand d) Pakistan
In Cyber law terminology ‘DOS’ means

a) Denial of Service b) Disk Operating System ¢) Distant Operator Service
d) None of the above

Which of the following state governments has recently banned e-cigarattes?
a) Kerala b) Punjab c¢) Uttar Pradesh d) Odisha

In MICR, C stands for

a) Code b) Colour ¢) Computer d) Character
The terms “bull” and “bear” are used in

a) Planning Commission b) Stock Exchange

c¢) Sales Tax Department d) Income Tax Department

®
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15.

16.

37,

18.

19

20.

21.

22,

23.

24.

25.

26.

IRDA is the Indian regulator for the

a) Banking sector b) Mutual funds ¢) Rural Dev‘elopment
d) None of these

If Reena says, ““ Anjali’s father Raman is the only son of my father — in — law
Ramanand”, then how is Piyu, who is the sister of Anjali , related to Ramanand?
a) Wife b) Sister ¢) Granddaughter d) Daughter

Find the odd term from the given 4 options which does not belong to the group of
remaining options.
a) Vulture b) Doves ¢) Kingfishers d) Kiwi

Pick the word/phrase which is most nearly opposite in meaning: OBSCURE
a) Confusing b) Straightforward c) Vague d) Concealed

The “Patterson Cycle” pertains to ~
a) Aviation Sector b) Technology Sector ¢) Mining Sector
d) Telecom Sector

The term “Whitewash” is associated with which game?
a) Football b) Hockey c) Cricket  d) Lawn Tennis

‘Big Bazar’ belongs to
a) Future Group b) Spencers c¢) Reliance d) None of these

Which of the following fraction is the smallest?
a) 12/14 b) 13/19 c) 17/21 d) 7/8

Who has been honoured with the 16™ Laureus World Sportsman of the year
award?

a) Rafael Nadal b) Novak Djokovic ¢) Andi Mury

d) Roger Federer

Three unbiased coins are tossed. What is the probability of getting atleast 2 tails?
a) 0.75 b) 0.5 c) 0.25 d)0.2

“Kash” is the payment system based on
a) Bitcoin ~ b) Fingerprint ID  ¢) Direct Debit d) PayPal

What is the true discount if a banker’s discount on a bill due 4 months hence is
420 at 15%7?
a) 400 b) 410 c) 390 d) 380

Which of the following goods are termed as “Veblin Goods™?
a) Luxury Goods  b) Whit Goods ¢) Basic Goods d) Brown Goods

The target market for Debit cards is
a) All existing account holders b) All agriculturists
c) All DSAS d) All vendors
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36.
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38.

39.

Among P, Q, R, S, & T, T is shorter than S & P. Q is shorter than only P. Who
among them is the shortest?

a) Cannot be determined b) Q ¢)R d)S
MNP is

a) Mobile Number Portability b) Maharashtra Nuclear Power
¢) Minimum Numeric Point d) None of these

Three numbers are in the ratio 4:5:6 and their average is 30. The largest number is
a) 28 b) 32 c) 36 d) 42

3639+ 11.95-x=3054. Find the value of x
a) 407.09 b) 479.75 c) 523.93 d) 596.95

“Advertising allowance” is

a) The concession given by producer and supplier to the retailer
b) The concession given by producer to the employees

¢) The concession given by producer to consumers

d) Concession by advertising agency

Contribution of Indian cinema in world cinema is
a) 10% b) 50% c) 73% d) 37%

Rohan’s income doubles after every one year. If the initial income was Rs. 4
lakhs, what would be the income after 6 years?

a) Rs. 2.24 crores b) Rs. 2.28 crores c) Rs. 2.52 crores

d) Rs. 2.56 crores

Ivory Coast is located in
a) South Africa b) North America c) West Africa
d) South America

An error is also known as
a) bug b) debug c) Cursor d) icon

The Corporate Head Quarters of Tata Group is :
a) Bombay House b) Tata Towers  ¢) JRD Centre d) None of these

The agency that estimates national income in India is
a) RBI b) Planning Commission
c) Central Statistics Organisation d) None of these

The abbreviation EMI in banking sector stands for
a) Equated Monthly Installment b) Equal Monthly Increment
¢) Equated Money Installment d) Equalized Monthly Installment

How many signs are there according to astrology?
a) Eight b) Ten c) Twelve d) Fourteen
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Which of the following is not a social networking site? :
a) Twitter b) Facebook ¢) Google+ d) Wikipedia

Close-up, Frooti, Olay, Lotus, Surf are the examples of

a) Brand Equity b) Free standing brand name

c¢) Descriptive brand name d) Trademark ,
Which of the following company has launched a “Digital Price Index” for
measuring inflation?

a) Amazon b) Microsoft c¢) Adobe d) Google

How many states of India border Bangladesh?
a)S b) 6 c)4 d)3

India has slipped to 75" place on money in Swiss banks. Which country remains at
the top according to latest figures released by Swiss National Bank?
a) UK b) US ¢) Germany d) France

Which food products marketing organization has announced sponsorship of the
Indian contingent at the Rio 2016 Olympic Games?
a) Amul b) Pepsi ¢) Coca Cola d) None of the above

The book “Gulliver’s Travels” was written by
a) Alexandra Dumasb) Charles Lamb  ¢) Charles Dickens
d) Jonathan Swift

What decimal of an hour is a second?
a) .0025 b) .0256 c) .00027 d) .000126

A man invested Rs. 1552 in a stock at 97 to obtain an income of Rs. 128. The
dividend from the stock is
a) 7.5% b) 8% c) 9.7% d) None of these

If you have the option of buying a refrigerator with 1 star, 3 star, 5 star rating
given by BEE then which one will you prefer?
a) 3 star b) 5 star c) 1 star d) Does not matter

The last day of a century cannot be
a) Monday b) Wednesday ¢) Tuesday d) Friday

Mobile instant messaging service WhatsApp has gained more active users than
which social network?
a) Facebook b) Twitter ¢) Google+ d) WeChat

At which URL can internet users access videos created by federal agencies?
a) www.whitehouse.gov  b) Data.gov c¢) Mygovernment.mov
d) youtube.com/UsGovernment

You have created a Powerpoint presentation that you want to embed on a web
page. A site that enables you to do that is
a) Youtube b) Vimeo c) Slideshare d) Soundslide
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Money Laundering normally involves ,
a) Placement of funds b) Layering of fundsc) Integration of funds
d) All of above

Which is the largest private sector bank in India?
a) ICICI b) Axis c) HDFC d) HSBC

The following tagline refers to which company/brand:
“There are some things money can’t buy, for everything else there is
a) Visa b) American Express c¢) MasterCard d) Discover

13

The largest producer of saffron in India is
a) Uttar Pradesh b) Tamil Nadu ¢) Jammu & Kashmir d) Haryana

In any set of numbers, the geometrical mean exists only when all numbers are

a) Positive b) Negative c) Zero d) Positive, zero & negative

Who among the following is not a badminton player?
a) Saina Nehwal b) Jwala Gutta ¢) P.V.Sindhu
d) Somdev Devburman

Value added services means
a) Giving full value for money b) Better value for higher price
c) Costlier service d) Additional service
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Q.1.  Inthe memory of which of the following doctors, the National Doctor’s Day in India is celebrated
on every 1* of July?

a) Dr. Bidhan Chandra Roy b) Dr. Dwarkanath Kotnis c) Dr. Ashim Desai
d) Dr. Ramneek Mahajan
Q.2.  The union government has launched a mobile application “m-asset” to know assetsof
a) Gram Panchayat b) Municipalities c) Zilla Panchayats d) State Governments
Q.3.  Which one of the following states shares longest border with Bangladesh?
a) Meghalaya b) Assam c) West Bengal d) Mizoram
Q.4. Tata trust and which internet giant has launched “Internet Saathi” to bring women online?
a) Yahoo b) Google c¢) Facebook d) Microsoft
Q.5.  Which bank has become the first to launch Watch Banking in India?
a) IcIClI b) HDFC c) Axis d) SBI

Q.6.  Airbus and which Indian company has signed a MOU to form a joint venture to produce
helicopters in India?

a) Reliance b) Mahindra c) Tata group d) HAL
Q.7. When acomputer is switched off, the contents of RAM are washed out.

a) True b) False  c) Depends upon the RAM of the computer d) Cannot predict
Q.8. CRY stands for _

a) Children Require you b) Child Relief and You

c) Children Relief and You d) None of the above
Q.9. The difference between IST and GMT is

a)8 &% hrs b)5 & % hrs c)6 &% hrs d)4 & ¥ hrs

Q.10. Khajuraho Temples are located in

a) UP state b) MP State ¢) Gujarat d) AP State

t/c



Q.11. If Day: Night then Dusk:?
a) Morning b) Noon c) Evening d) Dawn

Q.12.  Ais the mother of D and sister of B. B has a daughter C who is married to F. G is the husband of
A. How is G related to D?

a) Husband b) Son c) Father d) Uncle
.Q.13.  The first ever cellular phone service was started on 1° August 1195 in ___
a) New Delhi b) Bangalore ¢) Mumbai d) Kolkatta
Q.14. Disinvestment of shares means —
a) To sale the shares of private company to public
b) To sale the shares of public company to public
¢) To sale the shares of Government company to public
d) To sale the shares by holding company to its subsidiary company.
Q.15. With which game is the “Uber Cup” associated?
a) Badminton b) Cricket ) Football  d) Volleyball
Q.16. Two boys begin together to write out a booklet containing 535 lines. The first boy starts with
the first line, writing at the rate of 100 lines an hour; and the second starts with the last line

then writes line 534 and so on, backward proceeding at the rate of 50 lines an hour. At what
line will they meet?

a) 356 b) 277 c). 357 d) 267

Q.17. Dronacharya Award is given to
a) coaches and trainers b) athletes c) sports stars d) none of the above
Q.18. 5" of a month falls two days after Monday. What day of the month will precede 19" of it?

a) Wednesday b) Thursday c) Tuesday d) Monday

Q.19. What does PIN stand for in banking?
a) Password Information Number b) Personal Identity Number
c) Personal Identification Number d) Password Identity Number

Q.20. Fill the missing no. from the alternatives to complete the series — 110, 99, 86, ?, 54, 35

2/6
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Q.22.

Q.23.

Q.24.

Q.25.

Q.26.

Q.27.

Q.28.

0.29.

Q.30.

{231,

The capital of Belgium is

a) Belmopan b) Brussels c) Sofia d) Tirana
Where is the European Central Bank located?

a) Los Angeles b) Afghanistan c¢) Frankfurt d) Tokyo

Alisha Chinai made her debut as a singer for an advertisement jingle. Name the brand for which
she first. lent her voice?

a) Horlicks b) Bournvita c) Farex d) Complan
Name the term used for depreciating a company’s intangible assets?

a) Joint Venture b) Amortization ¢) Partnership d) Appreciation
Which group now owns the luxury car maker Bentley?

a) Volkswagen group b) Jaguar group c) Rolls-Royce d) Cadillac
A mouse is connected to

a) LPT1 port b) LPT2 port c) the serial port d) none of these
Which of these music directors is not a duo?

a) Sachin Jigar b) Salim Suleiman c) Jatin Lalit d) Madan Mohan
Which word does NOT belong with the others?

a) Tulip b) Rose c) Bud d) Daisy

If one-third of one-fourth of a number is 15, then three-tenth of that number is:

a) 35 b) 36 c) 45 d) 54

ET Now and CNBC TV 18, TV Channels essentially broadcast

a) English News b) Business and economic news c) Classic English movies
d) Political events and news

Why the indirect taxes are termed regressive taxing mechanisms?

a) They are charged at higher rates than direct taxes

b) They are charged the same for all income groups

c) They are charged differently for all income groups

d) None of the above is a correct reason

2/6




Q.32. Value of 0.250/0.025 is equal to
a) 10 b) 20 Ch5 d) 30
Q.33. Which one of the following is not a “Classical Language of India”?

a) Malayalam b) Kannada c) Telugu d) Bengali

Q.34. VAT means
a) Value and Time b) Value after Tax =~ ¢) Value alter Tax d) Value added Tax

Q.35. Guarantee to an exporter that the importer of his goods will pay immediately for the goods
ordered by him, is known as :

a) Letter of Credit (L/C) b) Laissez-faire

c) Inflation d) None of the above
Q.36. The “Karakorum Pass” links which of the following two countries?

a) India and China b) China and Pakistan

c) India and Pakistan d) India and Bangladesh

Q.37. The currency of Argentina is
a) Peso b) Euro c) USD d) Dinar

Q.38. Who founded the famous Wall Street Journal?
a) Charles Dow & Edward Jones b) William Henry Grimes c) Clarrence Barron

d) Daniel Henninger

Q.39. Which one will replace the question mark?

a) 25 b) 37 c) 41 d) 47

Q. 40. “Eat healthy; think better “is used by which company?

a) Joker b) Marie c) Britannia d) Dukes

41¢




Q.41.

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

Q.47.

Q.48.

Q.49.

0:50.

How many pillars are there in Islam?

a)4 b) 6 c)5 d) 2

The H.C.F. of two numbers is 23 and the other two factors of their L.C.M. are 13 and 14. The
larger of the two numbers is:

a) 276 b) 299 c) 322 d) 345

If SPANK is coded as PSNAK, then THROW is coded as ‘

a) HTWOR b) HTWRO c) HTROW d) HTORW

How should service requests be completed?

a) In the order they are received with emergencies taking precedence

b) In the order the maintenance supervisor decides he wants them done

c) Easiest to hardest

d) Hardest to easiest

After how many weeks Greek banks were ready to open their branches across the country?
a) 3 weeks b) 4 weeks c) 2 weeks d) 5 weeks

Which is the smallest nation of South America?

a) Bolivia b) Suriname c) Ecuador d) Colombia
Mumbai’s first metro service was inaugurated on

a) 9" June b) 8" June c) 7" June d) 6™ June

The insurance companies collect a fixed amount from its customers at a fixed interval of time.
What is it called?

a) Installment b) Premium c) EMI d) Service Charge

The El Nifio effect is known to cause floods in

a) India b) Australia c) North America d) Latin America

The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables together is
Rs. 4000. The total price of total 12 chairs and 3 tables is

a) Rs. 3500 b) Rs. 3750 c) Rs. 3840 d) Rs. 3900

Sl



Q.51.

Q.52.

Q.53.

Q.54.

Q.55.

Q.56.

Q.57

Q.58.

Q.59.

Q.60.

What decimal of an hour is a second?

a) .0025 b) .0256 ¢) .00027 d) .000126

The ratio of width of our National flag to its length is

al-3'5 bl2:3 c)2:4 d) 3:4

South — Eastern Railway is the first to introduce Suvidha train to connect Ernakulamand
a) Secunderabad b) Delhi ' c) Kolkata d) Ahmedabad

Name the convict whose curative petition of Mumbai serial bomb blasts has been rejected by
the Supreme Court on 21* July “ 15?

a) Abu Salem b) Yakub Memon c) Tiger Memon d) Chota Shakeel

As announced by Ministry of Railway what kind of tickets will be provided on cancellation of
trains?

a) RAC e-ticket b) Waitlist e-ticket c) Refund Claim Ticket d) Confirmed Ticket

Which cricket stadium will host the final match of the 2016 World Twenty20 cricket tournament
that will be held in India from March 11 to April 3 next year?

a) Eden Garden b) Wankhede Stadium c) Firoz Shah Kotla d) K D Singh Babu
Stadium

The food consumer brand “ Sofit” is owned by which of the following companies

a) Nestle b) Dabur foods c) Godrej d) Cadbury

Arun Jain is chairman and M.D of

a) Polaris b) Sun Pharma c) Nicholas Piramal d) Balsara Group
Which of the following is considered as world’s busiest port?

a) Singapore b) Hongkong c) Shenzen d) Osaka

Data One is a broadband service brand associated with which of the following companies?

a) BSNL b) VSNL c) MTNL d) Reliance Infocomm
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SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
: P. G. DIPLOMA IN BUSINESS MANAGEMENT
THIRD ROUND
ENTRANCE EXAM

DATE : 16-Aug-13 TIME : 11.00AM TO 12.00 NOON - MARKS : 50

SOLVE ANY 50 FROM THE GIVEN ‘QUESTIONS. NO NEGATIVE MARKINGS.
Q.1. RBI’s headquarter is located in _

a) Mumbai b) Chennai ¢) Delhi d) Kolkatta

,

Q.2.  Which of the following have written books on management?

a) Richard Celeste b) Peter F Drucker c) Emilie Zola : d) R.L. Stevenson
Q.3.  Short term finance is usually for a period ranging up to

a) 5 months b) 10 months c) 12 months  d) 15 months
Q.4.  The difference between IST and GMT is

a)5&7%hrs b) 8 & % hrs c) 6 &% hrs d)7 &% hrs
Q.5. VAT means

a) Value and Time b) Value after Tax c) Value alter Tax d) Value added Tax
Q.6. Which s the city linked by the highest number of railway zones?

a) Delhi b) Mumbai c) Kolkatta  d) Chennai

Q.7.  The only state in India that produces saffron is _

a) Assam b) Himachal Pradesh c) Jammu and Kashmir d) Meghalaya
Q.8. India’s national game is
a) Hockey b) Cricket c) Football d) Volleyball

Q.9.  Which institution is known as the Soft Loan Window of World Bank?

a) IFC (International Financial Corporation) b) IDA (International Development Association)

c) IMF (lnternafional Monetary Fund) d) UN

L <
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Q.10.

:11.

Q.12.

Q3.

Q.14.

Q.15.

Q.16.

QAT

Q.18.

Fourteen commercial banks were nationalized in _
a) 1971 b) 1969 c)1980  d) 1962
Value of 0.250/0.025 isequalto
a) 10 b) 20 c)5 d) 30
Which of the following places is famous for “Chikankari Work” traditional embroidery art?
a) Lucknow b) Jaipur c) Ajmer d) Dharmavaram
Which one of the following is not a “Classical Language of India”?
» a) Malayalam b) Kannada c) Telugu .  d)Bengali
The ”kzi\rékorum Pass” links of which of the following two countries?
a) India and China b) China and Pakistan
c) India and Pakistan d) India and Bangladesh
Guarantee to an exporter that the importer of his goods will pay immediately for the goods
ordered by him, is known as
a) Letter of Credit (L/C) ' b) Laissez-faire
c) Inflation : ; d) None of the above
The mgmbers of Rajya Sabha are elected by
a) the people b) Lok Sabha c) elected members of the législative assembly
d) electedd members of the legislative council.
Which of the following is NOT written by Munshi Premchand?
a) Gaban b) Godan ‘ c) Guide d) Manasarovar
Who is the newly appointed Governor of RBI?

a)Dr.Y.V Reddy b) C. Rangarajan c) D. Subbarao d) Raghuram Rajan




Q.20.

Q.21

Q.22.

Q.23.

Q.24.

Q.25.

Q.26.

Why the indirect taxes are termed regressive taxing mechanisms?

a) They\afe charged at higher rates than direct taxes

b) They are charged the same for all income groups

c) They are charged differently for all income groups

d) None of the above is a correct reason

Currently, which among fhe following products is facing imports ban from China?
a) Milk and Milk products b) Rice c) Telecom equipment

d) Heavy electrical engineering equipment

Indian Rupee has touched all — time lows in recent times. Which of the following holds true in
view of falling rupee? )
a) Helps exports b) Helps imports c) Helps FDI/FIl inflows

X s

d) None of the above

How long a person should have practiced in a High Court to be eligible to be appointed as a
Judge of Supreme Court of India?

a) 10 years b) 15 years c) 12 years d) 5 years
Which among the following is the oldest Public Sector Bank of India?

a) Punjab National Bank b) Imperial Bank of India ¢) Allahabad Bank
d) Célntral Bank of India |

Which of the fbllowing is a famous Assamese festival?

a) Makar Sankranti b) Yugadi c) Onam d) Rongali Bihu

Lo '
What does PIN stand for in banking?
a) Password Information Number b) Personal Identification Number

c) Personal Identity Number d) Password Identity Number

The sum of ages.of 5 children born at the intervals of 3 years each is 50'years. What is the age of
the youngest child?

a) 4 years b) 8 years c) 10 years d) none of these




Q.27

Q.28.

Q.29.

Q.30.

Q.31

Q.32.

0.33.

Q.34.

Q:35.

Q.36.

Q.37.

Q.38.

Find the odd man out in this series: 396, 462, 572, 427,.671, 264

a) 396 b) 427 c) 671 d) 264

Find the odd man out here: 16, 25, 36, 72, 144, 196, 225

a) 36 T gy c) 196 d) 225

Which of the following isnot a leap year?

a) 800 b)700 - c) 1200 d) 2000

Who is the first female Prime minister of UK who recently passed away?

a) Mary Eugenia Charles b) Elisabeth Domitien c) Golda Meir d) Margaret Thatcher
The relationship between the values of money the price level in an economy is

a) Difect b) Inverse c) Proportional d) Stable .

ET Now and CNBC TV 18, TV Channels essentially broadcast

a) Engli\sh News b) Business and economic news c) Classic English movies
d) Politica.l events and news

What is the slogan of “Bank of Baroda?”

a) India’s International Bank b) Relationship beyond Bankihg

¢) One Family one Bank / d) Trusted Family bank

If one'-.third of one-fourth of a number is 15, then three-tenth of thét number is:

a) 35 \ b) 36 c) 45 d) 54

Which word does NOT belong with the others?

a) Tulip b) Rose c)yBud d) Daisy

The capital of Chhattisgarh is
e «
a) Patna b) Raipur c) Simla d) Gandhinagar

The currency of Argentina is
a) Peso - ‘ b) Euro c) USD -d) Dinar
Which one among the following is not a mixture?

a) Graphite b) Steel c) Glass d) Brass

®



Q. 41.

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

Q.47.

Q. 48.

Q.49.

Mandarin is mainly spoken in

a) India b) China c) Bangladesh

The name of India’s first aircraft carrier is

a) INS Nilgiri b) INS Himgiri c) INS Vikrant' d) INS Kukri
Professor Ama_rtya Sen is famous in which of the fields?

a) Biochemistry b) Electronics c) Ecqnomics d) Geology
Which iks Fhe highest gallantry award in India?

a) Param Vishishtat Seva Mandal b) Param Vir Chakra

c) Kirti Chakra d) Vir Chakra

The first Indian to receive Noble Prize in Literature was

a) Mother Teresa b) C.V. Raman c) Rabindranath Tagore

d) Sarojini Naidu

Which of these music directors is not a duo?

a) Nikhil Vinay b) Anand Milind c) Jatin Lalit d) Madan Mohan
One of the following is not a sales activity — ‘
a) ldentifying leads b) Making a call c) Negotiation d) After-sales service
A mc’)us\e}s connected to |

a) LPT1 port ° b) LPT2 port c) the serial port d) none of these
Which one of the following countries has largest postal network in the world?

a) China b) India " c)USA d) Russia

By defeating which one of the following teams, India has won historic bronze medal at junior

women hockey world cup in August 20137?

a) Holland b) South Africa c) England d) Pakistan

Which one of the following is not a computer language?

a) Datamatrics b) Cobol c) Fortran d) Pascal

L N




Q.50.

Qi51.

Q.52.

Q.53.

Q.54.

@.-55;

Q.56.

Q.57.

Q.58.

(.59;

Q.60.

As per the recent TRAI report, as of March 2013, the number of Indians who access Internet on
mobile is about

a)30m b) 100 m c) 150 m d) 200 m

Which group now owns the luxury car maker Bentley?

a) Volkswagen group b) Jaguar group c) Rolls-Royce d) Cadillac
Name the term used for depreciating a company’s intangible assets?

a) Joint Venture b) Amortization c) Partnership d) Appreciation
Who founded the famous Wall Street Journal?

a) Charles Dow & Edward Jones b) William Henry Grimes c) Clarrence Barron
d) Daniel-Henninger

Which is the only country having paper currency and have no coins and it introduced chéque
only in 19977

a) Thailand b) Vietnam c) Macau d) China
Where is the European Central Bank located?
a) Los Angeles b) Afghanistan c) Frankfurt d) Tokyo

Alisha Chinai made her debut as a singer for an advertisement jingle. Name the brand fbr which
she first lent her voice? :

a) Horlicks b) Bournvita c) Farex e d) Complan

The number of subordinates a superior can effectively handle is called?

a) Coop;e;ation b) Coordination c) Supervision d) Span of Control
If south east becomes north, north east becomes west and so on, what will west become?
a) South East b) North East \ c) South d) South West
The capital of Belgium is |

a) Belmopén b) Brussels : c) Sofia d) Tirana

If you are standing at Trafalgar Square, you are in

a) USA : b) China c) London d) France

N



SEAT NO. : SUPERVISOR’S SIGN.:

UNIVERSITY OF MUMBAI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN BUSINESS MANAGEMENT
(PGDBM)
ENTRANCE EXAM

DATE: 16-JUL-16 ~ TIME : 11.00AM TO 12.00 NOON MARKS : 50

NOTE: » DO NOT CARRY YOUR MOBILE IN THE EXAMINATION HALL
» SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

1. The central banking functions in India are performed by the
a) Central Bank of India b) Reserve Bank of India
c) State Bank of India d) Punjab National Bank

2. ICICI is the name of a
a) Chemical industry b) bureau  c) corporation
d) Financial institution

3. Who among the following is associated with the discovery of rings of Saturn?
a) Galileo  b)Newton c) Edmund Halley d) Christian Huygens

4, The 2017 Global Entreprencurship Summit (GES) will be hosted by which country?
a) India b) United States ¢) Morocco  d) Kenya

5. Money appears to have a major influence on
a) Inflation  b) the business cyclec) interest rates ~ d) all of these

6. The primary assets of a savings and loan association are
a) money market instruments b) corporate bonds and stock
¢) consumer and business loans d) mortgages

7. The 2016 Copa America Football tournament has been won by which of the following

countries?
a) Argentina b) Colombia c¢) Chile d) Peru

8. Who has been appointed as the new coach of the Indian Cricket Team?
a) Lalchand Rajput b) Ravi Shastri ¢) Kapil Dev
d) Anil Kumble

9. Which word does not belong with the others?
a) guitar b) flute ¢) violin d) cello

10.  The number of times a unit of money exchanges hands during a unit period of time is

known as



<ty

I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

a) velocity of circulation of money

b) speed of circulation of money

¢) momentum of circulation of money
d) count of circulation of money

Who is the author of the ancient book on economics, Arthashastra?
a) Kautilya b) Chanakya ¢) Sushrut
d) Bhattacharya

Historically, the Indian rupee was a coin
a) Copper b) Gold c) Silver d) Bronze

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years.

The sum is
a) Rs. 650 b) Rs. 690 ¢) Rs. 698 d) Rs. 700

Marathon is to race as hibernation is to
a) winter b) bear ¢) dream d) sleep

Look at this series: 2, 1, (1/2), (1/4),.....what number should come next?
a) 1/3 b) 1/8 c)2/8 d) 1/16

Currency notes and coins are called as
a) Flat money b) Legal tenders ¢) Fiat money d) both b and ¢

The International Conference on Yoga was hosted by which city of India?
a) Chandigarh b) Lucknow ¢) New Delhi d) Mumbai

TV18 ETV News Network has hired whom at Samsung Electronics Co as Group Business
Head?

a) Rajiv Mishra b) Rajiv Singh ¢) Rajiv Sinha

d) Rajiv Mehta

Which company has acquired Android App PocketMoney on June 27, 20162
a) Adways b) Adhit c) Admeans d) Adwise

The fourth proportional to 5, 8, and 15 is
a)l18 b) 24 ¢) 19 d) 20

In the first 10 overs of a cricket game, the run rate was only 3:2. What should be the run

rate in the remaining 40 overs to reach the target of 282 runs?
a) 6.25 b) 6.5 c) 6.75 d) 7



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Following Dutee Chand, which other Odisha sprinter qualified for the Rio Olympics in the

women’s 200 metre event?
a) Srabana Nanda b) Srabani Singh  c¢) Srabani Nanda
d) Saraya Singh

Kavalam Narayana Panicker was well known in which fields?

a) Theatre b) Poetry ¢) Music d) Bothaand b
Micromax announces partnership with which digital platform?
a) Times Now b) Eros Now ¢) Hindu Now
d) Reuters Now
International Day against Drug Abuse and Illicit Trafficking was observed on
June 2016.
a) 24 b) 25 c) 26 d) 27

There are 30 people in a party. If everyone is to shake hands with one another, how many

handshakes are possible?
a) 180 b) 256 ¢) 386 d) 435

Who works as RBI’s agent at places where it has no office of its own?
a) State Bank of India b) Ministry of Finance
¢) Government of India  d) International Monetary Fund

Restaurant charges less to the customers who come early. It is a type of
a) Customer segment pricing b) Time pricing
¢) Product form pricing d) Channel pricing

World’s first oil paintings have been found in which of the following countries?
a) India b) Pakistan c¢) Afghanistan d) Iran

Which of the following parts of constitution explicitly mentions that India is a secular
state?

a) Preamble b) Fundamental Rights

¢) Directive Principles of state policy ~ d) The Union

Pick out the word closest in meaning to the given word: ADMONISH
a) permit b) advise C) praise d) compliment

Finance function comprises
a) Safe custody of funds only
b) Expenditure of funds only
¢) Procurement of finance only
d) Procurement and effective use of funds



33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

Which Indian umpire has been recently promoted as umpire for International Hockey
Federation?

a) Deepika Kaul b) Nepoleon Singh
¢) Satinder Sharma d) Durga Thakur
Abbreviate HTML
a) High Text Marking Language b) Highlight Text Making Language

¢) Hyper Text Markup Language d) None of the above

An article costs Rs. 600. What should be the marked price of an article so that after 10%

discount, the trader makes 20% profit?
a) Rs. 800 b) Rs. 950 ¢) Rs. 1100 d) Rs. 1040

HRD Ministry has launched which teacher app?
a) Shikshak b) Prashikshak ¢) Vidya d) None of the above

Which book was released by PM Modi on 28" June on Birds in Gujarat?
a) Birds of Banni Grassland b) Birds of Sunderbans
¢) Birds of Bhuj d) None of the above

The World Tuberculosis Day is observed on which date?
a) February 10 b) March 24 ¢) March 28 d) April §

Sabarimala is located in which of the following states? :
a) Kerala | b) Karnataka c¢) Andhra Pradesh _, d) Telangana

Which is the most abundant metal in the Earth’s crust?
a) Aluminium ) b) Nickel  c¢) Iroq d) Silicon

Find the odd one out: - 125, 106, 88, 76, 65, 58, 53

a) 88 b) 106 ¢) 125 d) 76,
Which is the second most preferred mode of transport in both rural and urban India as per
NSSO report?

a) Auto Rickshaw b) Buses ¢) Trains d) Taxis

Simplify: 6010-6000/10
a) 1 b)5400  ¢)0 d) 5410

is the most common source for leads generation for any company.
a) White pages b) Yellow pages ¢) Green pages d) Blue pages

Find the average of all prime numbers between 20 and 40.
a)29 b) 120 ¢) 31 , d)30

&



46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Among the following which is the highest gallantry award in India?
a) ParamVir Chakra b) Vir Chakra ¢) Kriti Chakra
d) Param Seva Medal

Which of the following is a virus?
a) Worm b) Trojan horse ¢) File Infector d) All of the above

Advertising for is not allowed.

a) Liquor  b) Washing powder c) Cigarette d)Botha & ¢
What is the tagline used by “Bank of India”?

a) Honours your trust b) Experience our expertise

¢) Worlds local bank d) Relationship beyond banking
Which one of the following does not belong to regulatory bodies in India?

a) FMC b) IRDA ¢c) PFRDA d) SEBI

Which Yahoo owned platform is launching live video to compete against twitter and FB?
a) Bing b) Tumblr  ¢) Yahoo Mail d) Yahoo Ads

Which renowned Qawwal has been shot dead in Karachi on 2o June, 20167
a) Amjad Sabri b) Amjad Ali ¢) Amjad Mehar  d) None of the above
Which certificates have to be linked with Aadhaar as per the new government directive?

a) Caste b) Domicile ¢) Birth d)Bothaandb
Nagpur and which Chinese city have become sister cities?
a) Busan b) Beijing c¢) Shanghai d) Jinan
buying behaviour is generally seen in India
a) Impulse buying b) Bargaining ¢) Complex buying behaviour
d) Repeat purchases
The Prime Minister of India is
a) The chief of government b) Chief advisor to the President
¢) Head of Council of Ministers d) All of the above

There are 50 students of whom 47 are present. What % is absent?
a) 8% b) 3% c) 6% d) 12%

The Kala Ghoda Arts festival is associated with which one of the following cities?
a) Kochi b) Pune ¢) Mumbai d) Mysore

Which of the following is not an online shopping portal?
~ a) E-bay b) Ferns-n-petals ~ ¢) Rediff Shoppy  d) Sky Shop

This is a bear in “The Jungle Book”
a) Balu b) Baghira ¢) Maggar d) Mowgli
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UNIVERSITY OF MUMBAI
%ARWAEN} INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
ENTRANCE EXAMINATION
P.G. DIPLOMA IN BUSINESS MANAGEMENT (PGDBM)

DATE : 19/07/2014 TIME : 11.00 AM TO 12.00 NOON B MARKS : 50

NOTE :-
SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

Q.1.  Which of the following countries will host 2018 Winter Olympics?

a) South Korea b) Japan c) Singapore  d) Neth-erland

Q.2.  What is the name of the only novel written by Charlie Chaplin that is belng made public for the
first time?

a) Limelight b) The Comedian c) Footlight d) A Memory never Fade

Q3.  “Watson” is an artificially intelligent computer system capable of answering questions posed in
- natural language, developed by '

a) Google b) IBM ¢) Microsoft d) Dell

Q4.  Which among the following Latin American country is not a member of MERCOSUR?

a) Chile b) Argentina c) Paraguay d) Uruguay

Q.5. ° The government of India has decided to set up a new major port at Dugarajapatnam which is
located in ? ‘

a) Andhra Pradesh b) Karnataka c) Tamil Nadu d) Kerala

Q.6.  Which among the following is the most populous state in USA?

a) Texas b) New York ¢) Florida d) California



L7,

Q.8.

Q.9.

Q.10.

Q.11.

Q.12.

Q.13.

Q.14.

What does PIN stand for in banking?

a) Password Information Number

¢} Personal Identification Number

b} Personal ldentity Number

d} Password identity Number

Short term finance is usually for a period ranging up to

a) 5 months

Which of the following cities is known as Electronic City of India?

a) Mumbai

b} 10 months

b) Hyderabad

¢} 15 months

c) Bangalore

The first underground railway in India was opened in 1984 in

a) Mumbai

b) Chennai

Bismillah Khan is assosciated with

a) Tabla

b) Sarod

The famous Meenakshi temple is in

a) Maharashtra

A is twice as good a workman as B and together they finish a piece of work in 14 days. A alone

b) Tamil Nadu

can finish the work in

a) 11 days

A man sold 20 articles for Rs. 60 and gained 20%. How many articles did he buy for Rs. 60?

a) 22

b) 21 days

b) 24

c) Kotkatta

¢) Flute

¢) Gujarat

.c)-28 days

c) 25

d} 12 months

d} Gurgaon

d) Bangalore

d) Shehnai

d) Rajasthan

d) 42 days -

d) 26



G.15.

G.16.

Q.17.

Q.18.

Q.19.

Q.20.

Q.21.

Q.22.

Complete the series:- 4,7,12, 78,39

a} 19 b 24 ¢} 14 d} i6

The central banking functions in India are performed by the

a) WTO b) RBI c) GATT d) WHO

Who among the following has been honoured as the most popular all time international star in
India at IIFA awards 2013 — 14?

a) Johnny Depp b) Kevin Spacey c) John Travolta d) Tom Cruise

is the process by which a firm manages the formulation and implementation of
its strategy.

a) Total quality management  b) Strategic management ¢) Micro management

d) Economic logic - ‘ ' ' N

Recently, which of the following firm has acquired Nokia handset business in India?

a) Microsoft b) Google ¢) Facebook d) Motorola

The percentage increase in the area of a rectangle, if each of its sides is increased by 20% is

a) 40% b) 42% c) 44% d) 46%

At 3.40, the hour hand and the minute hand of a clock form an angle of
a)120° b) 125° c) 130° d) 135°
Vishu Festival is a traditional Hindu festival celebrates in which among the following states

a) Tamil Nadu b) Karnataka ¢} Kerala d) Maharashtra



Q.23. The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the age of

the youngest child?

a) 4 years b} 8 years ¢} 10 years d) None of these

Q.24.  The brain of any computer system is

a) ALU b) Memory c) CPU d) None of the above

Q.25. Approximately, what fraction of Post Offices in India is in rural areas?

a) 70% b) 80% c) 90% d) 95%

Q.26. Pointing to a photograph of a boy Suresh said, “He is the son of the only son of my mother”.
How is Suresh related to that boy?

a) Brother b) Uncle ¢) Cousin d) Father

Q.27. Arrange the words given below in a meaningful sequence:
1. Word 2. Paragraph 3. Sentence 4. Letters 5. Phrase

a)4,1,5,2,3 b)4,1,3,5,2 c)4,2,51,3 d)4,1,5,3,2

Q.28. Which among the following has been named 2014 world car of the year?

a) Mazda 3 b)BMW 4 - ¢) Audi A3 d) Duster

Q.29.  One morning Udai and Vishal were talking to each other face to face at a crossmg If Vishal’s
' shadow was exactly to the left of Udai, which direction was Udai facing?

a) East b) West c) North d) South



(.30,

Q.31.

Q.32.

Q.33.

Q.34.

Q.35.

Q.36.

According to the Indian laws, a building has to be atleast _years old to be considered
heritage. '

a) 50 b} 100 c} 75 dj 200

Find out the alternative which will replace the question mark
CUP:LIP :BIRD:?

a) Bush b) Grass c) Forest d) Beak

The process of conducting research and gathering and assimilating external information is called
a) Mission development b) Long range planning c) Industry analysis

d) Lobbying

Twenty years in a Decade is an autobiography of

a) Shah Rukh Khan b) Aamir Khan c) Amitabh Bachchan  d) Mukesh Ambani

At present (2014), which among the following projects is the biggest foreign direct investment
into India?

a) Reliance — BP Project b) Posco Project c) Hindalco Project d) Delhi
Mumbai Industrial Corridor

Ina 500 m race, the ratio of the speeds of the two contestants A and B is 3:4. A has a start of
140 m. Then, A wins by

a) 60 m . b)4Om . ¢)20m d)10m

Who among the following was known as Bengal’s Greata Garbo?

a) Suchitra Sen b} Amaravati ¢) Kanan Devi d) Bharathi Shirodkar



.37,

(Q.38.

Q.39.

Q.40.

Q.41.

Q.42.

Q.43.

The term “Globalization” means
a} Opening the economy for world trade b} Closing the economy

cjBothaandb d} Neitheraand b

The least perfect square, which is divisible by each of 21, 36 and 66 is

a) 213444 b) 214344 c) 214434 d) 231444

Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social work?
a) Ramakrishna Paramahansa  b) Swami Dayanand Saraswati c¢) Swami Vivekananda

d) Blavatsky and Olcott

Which of the following mountain ranges form a dividing line between the Ganges Plain and the
Deccan Plateau?

a) Aravalli | b) Vindhya | c) Satpura d) Ajanta

A is a promotion strategy that calls for using the sales force and trade promotion to
move the product through channels.

a) Push strategy b) Pull strategy ¢) Blocking strategy d) Integrated strategy

The only African state that is not a member of African Union is

a) Algeria b} Morocco ¢) Burundi d) Chad

Who among the following can dismiss Governor of a state from his office?

1

a) State Legislative Assembly  b) Parliament ¢) President d) None of them




Q.44. Apple’s iPhone4$ came with an “assistant” named Siri. How did Siri differ on the U K, Version of
the phone? :

a} Siri was a man b) Siri sang Adele songs c) Siri talked dirty

d) Siri could imitate members of Parliament

Q.45.  Which famous fashion designer never went to fashion ~design school?
a) Gianni Versace b) Vera Wang c) Giorgio Armani

d) All of the above

Q.46.  Google actually dates back to the dotcom boom of the mid — 1990's, but the search engine
debuted under a different name. What was it?

a) BackRub.com b) LookForlt.com ¢) Ogle.com d) GreenPasture.com

Q.47.  Which country consumes the most Coca-Cola per capita?

a) Iceland b) China c) Russia d) United States

Q.48. The difference between IST and GMT is

a)8& ¥ hrs b)5& % hrs c)6&%hrs d)7 &% hrs

Q.49. India’s national game is

a) Hockey b) Cricket ‘ c) Football d) Volleyball

Q.50. A company is registered in India under

a) Industrial Law b) Company act  c¢) Labour Act d) Stock Exchange act



Q.51

Q.53.

Q.54.

Q.55.

Q.56.

Q.57.

Q.58.

Q.52.

VAT means

a} Value and Time by Value after Tax ¢} Value added Tax  d} Value and Type

The currency of Austria is

a) Euro b) Austria Dollar ¢) Austria Rupee d) Jesso

The banker’s discount on a bill due 4 months hence at 15% is Rs. 420. The true discount is

a) Rs. 400 b) Rs. 360 c) Rs. 480 d) Rs. 320

The famous “Angkor Vat” temple is situated in which of the following South-East Asian Country?

a} Thailand b) Philippines ¢) Cambodia d) Vietnam

A man buys Rs. 20 shares paying 9% dividend. The man wants to _have an interest of 12% on his
money. The market value of each share is

a)Rs. 12 b) Rs. 15 - c)Rs. 18 d) Rs.21

Anything that a firm does especially well compared to rival firms is referred to as
a) Competitive advantage b) comparative advantage

¢) An external opportunity d) opportunity cost

“No one can eat just one” is used by which chips company?

a)‘Uncle Chips b) Lays c) Cheetos’ d) None of these

Akshay Kumar’s “Holiday” is a remake of which Tamil film?

a) Dookudu b) Thupakki ¢} Stalin d) None of these



Q.59.  “The Josh Machine” is used by which car company?

a) Ford b} Toyota ¢} Tata d} Fiat

Q.60.  After 3 Idiots, Rajkumar Hirani and Aamir Khan come together in P.K. Who is the femal

e lead in
the film?

a) Priyanka Chopra b) Anushka Sharma ¢) Chitrangada Singh ~ d) Deepika Padukone
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GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
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SEAT NO.

DATE :09/08/]2014 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

NOTE -
. SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

" Q.1..  The beginning of eécﬁ ‘day‘ sﬁould include which of the following
a) A quick staff meeting to go over the daily activities
b) A thorough walk of the tour route, models and amenities
c) A check on all the market réadys that includes looking for trash, dead bugs, etc

d) All of the above

Q.2. - Guarantee to an exporter that the importer of his goods will pay immediately for the goods
ordered by him, is known as '

a) Letter of Credit (L/C) b) Laissez-faire

c) Inflation d) None of the above

Q.3.  Fire temple is the place of worship of which of the following religion
a) Taoism : b) Judaism ¢) Zoroastrianism (Parsi Religion)

d) Shintoism

Q.4.  Which famous fashion desigher never went to fashion -—design school?
a) Gianni Versace b) Vera Wang c) Giorgio Armani

d) All of the above”



4.5,

Q.6.

Q.7.

as.

Q.9.

Q.10.

a) Installment b) Premium c) EMI d) Service Charge”

When should curb appeal be addressed?
a} Every morning b} When you have time ¢} Daily by all assosciates

dy Aand C

The insurance companies collect a fixed amount from its customers at a fixed interval of time.

What is it called?

Recently, RBI has released a draft report on enabling PKl in payment system application. What
does PKl stand for? S

a) Public key infrastructure b) Primary key infrastructure  c) Primary key institute

d) Public kiosk infrastructure

Sumitra Mahajan, the newly elected speaker of Lok Sabha represents which among the
following constituencies? '

a) Bhopal b) Indore c¢) Nagpur d) Jabalpug

The official slogan for the 2014 World Environment Day is
a) Small Islands and climate change b) Raise your voice and not the sea level -

¢) No global warming for tomorrow d) Climate change and sustainable development

Who among the following has won the CEAT International cricketer of the year award for the
year 2013 —~14?

a) M S Dhoni b) Virat Kohli c¢) Shakib Al Hasan d) Glenn Maxwell

¢



a.11.

Q.12.

Q.13.

Q.14.

Q.15.

Q.16.

Q.17.

The abacus of Lion Capital of Asoka is engraved with four animals viz,,
a) Lion, Elephant, Deer, Bull b} Lion, Bull, Horse, Deer

¢} Lion, Elephant, Horse, Bull d) Bull, Elephant, Tiger, Horse

Which of the following is not associated with the UNO?

a) ILo b) WHO c) ASEAN d) all of the above

Choose the correct alternative to complete the series:-

3,10, 101,
a) 10101 b) 10201  ¢)10202 d) 11012
In the series 2, 6, 18, 54 what will be the 8" term?

a) 4370 b) 4374 c) 7443 , d) 7434

¥

A, P, R, X, S and Z are sitting in a row. S and Z aré in the centre. A and P are at the ends. R is
sitting to the left of A. Who is to the right of P ? '

a) A b)X 0s 4z

Which one will replace the question mafk?

A governor in state of India is appointed for a period not exceeding

a) 3 years b) 4 years ) 5 years d) 6 years




.18,

Q.19.

Q.20.

Q.21.

Q.22.

Q.23.

Q.24.

The El Nifio effect is known to cause floods in

a} india b} Australia ¢} North America d} Latin America

The Tiananmen Square massacre was a student led popular demonstration took place in

a) Egypt b) Tunisia ¢} China d) Bangladesh

Seats for Mathematics, Physics and Biology in a school are in the ratio 5: 7: 8. There is a
proposal to increase these seats by 40%, 50% and 75% respectively. What will be the ratio of
increased seats?

a)2:3:4 b)6:7:8 - c)6:8:9 d) None of these

World’s first granite temple is located in which among the following states of India?

a) Karnataka = b) Bihar : c) Tamil Nadu . d) Andhra Pradesh

The share of deposits that banks must maintain in safe and liquid assets such as government
securities, is known as

a) Repo b) Reverse Repo c) SLR “d)CRR

In terms of geographical area, which among the following is correct rank of newly formed
Telangana state among all states of India?

a) 10" b) 12" c) 15" d) 16"

Running at the same constant rate, 6 identical machines can produce a total of 270 bottles per
minute. At this rate, how many bottles could 10 such machines produce in 4 minutes?

a) 648 b) 1800 c) 2700 d) 10800



.25, Dr. M. 5. Swaminathan has distinguished himself in which of the following fields?

aj Agriculture b} Medicine ¢} Astrophysics d} Physics

Q.26. Recently, tennis player Maria Sharapova has claimed her second French open title in 2014,
Maria Sharapova is from ‘

a) United States b) Russia c) France d) Romania

Q.27. For 2014, who was awarded with the Dadasaheb Phalke Award for his contribution towards
Indian cinema?

a) Gulzar b) Vishal Bharadwaj ¢} A.R. Rehman d) R.D.Burman

Q.28. Which word does NOT belong with the others?

a) tyre b) steering wheel c) engine d) car

Q.29. Look at this series: 53, 53, 40, 40, 27, 27, ... What number should come next?

a) 12 b) 14 c) 27 d) 53

Q.30. Identify the figure that completes the pattern.

NN

(3) 4)

Q.31.  Who among the following is the youngest female ever in the world to reach the world’s highest
peak Everest?

a) Bachendri Pal b} Tapi Mra c) Nirupama Pandey  d) Poorna Malavath

®



Q.32.

.33.

Q.34.

Q.35.

Q.36.

Q.37.

- Q.38.

Q.39.

The minimum age of the voter in india is

a) 15 years b} 18 years c} 21 years d} 25 years

A vulture restaurant has been recently opened at
a} Gadchiroli (Maharashtra) b} Jabalpur (Madhya Pradesh) c¢) Tonk (Rajasthan)

d) Banaskantha (Gujarat)

“Eat healthy, think better “is used by which company?

a) loker b) Marie c) Britannia d) Dukes

Which is the smallest nation of South America?

a) Bolivia b) Colombia ¢) Ecuador ' d) Suriname

Macchu Picchu is one of the famous civilizations of Incas which is located 2430 meters above
sea-level. In which country it is situated? '

a) Chili b) Peru c) Bolivia d) Uruguay

Which of these actors have never appeared in advertisements?

a) Hrithik Roshan b) Abhishek Bachchan ¢} Anil Kapoor d) Ranbir Kapoor

How many pillars are there in Islam?

a) 4 - b)6 o5 ) d) 2

The capital of Belarus is

a} Mensk b) Brussels ¢) Sucre d} Sarajevo



(2.40.

Q.41.

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

Q.47.

Q.48.

The currency used in Egyptis

a} Egyptian pound b} USD ¢} Euro d} Franc

The Flamingo festival is celebrated in

a) Andhra Pradesh b} Karnataka c) Kerala | d) Jammu & Kashmir

Who topped the Forbes Most Powerful Women List, 20147

a) Arundhati Bhattacharya b) Angela Merkel ¢) Chanda Kochhar d) Melinda Gates

Which among the following has been named 2014 world car of the year?

a) Mazda 3 b) BMW 4 c) Audi A3 d) Duster

”Watson”'is_,an artificially intelligent Computer system capable of answering questions posed in
natural language, developed by

a) Goog!e o b) IBM , c) Microsoft d) Dell

Recently, which of the following firm has acquired Nokia handset business in India?

a) Microsoft b) Google ¢} Facebook d) Motorola

Great Himalayan National Park is located in

a) Sikkim " b) Arunachal Pradesh  c¢) Uttarakhand d) Himachal Pradesh

The H.C.F. of two numbers is 23 and the other two factors of their L.C.M. are 13 and 14. The
larger of the two numbers is:

a) 276 b) 299 c) 322 d) 345

A disadvantage of international operations is

.



Q.49.

Q.50.

Q.51.

Q.52.

Q.53.

Q.54.

a} Competitors in foreign markets may not exist.

b) Language, culture and value systems differ among countries, causing communication barriers

and problems managing people

¢} Economies of scale can be achieved from operation in global rather than solely domestic
markets.

d) Foreign operations can allow firms to establish low-cost production facilities in locations close
to raw materials and/or cheap labor.

Mumbai’s first metro service was inaugurated on

a) 9" June b) 8" June c) 7" June d) 6™ June

Who won his 9" title at French Open Men’s Single for this year?

a) Novak Djokovic b) Pete Sampras c) Rafael Nadal d) Andy Murray

What is the name of India’s National Aquatic Animal?

a) River Dolphin b) Crocodile ¢) Katla Fish d) Green Frog

If SPANK is coded as PSNAK, then THROW is coded as

a) HTWOR b) HTWRO c) HTROW d) HTORW

On January, 2014, Reserve Bank of India has decided to withdraw all cufrency notes issued prior
to

a)2000 b) 2003 - ¢)2005 . d)2007

If Ankita says,” Rita’s father Shyam is the only son of my father in law Mohan”, then how is
Geeta, who is the sister of Rita, related to Mohan?

a) Wife b) Dgughter ¢) Granddaughter d) Mother



(.55.

0.56.

Q.57.

Q.58.

Q.59.

Q.60.

Who is the current President of India?
a} A.P.J. Abdul Kalam b} Pratibha Patil ¢} Shankar Dayal Sharma

d) Pranab Mukherjee

Which is the oldest running dining car?
a) Kerala Express b) The Bombay — Pune Deccan Queen

c) Trivandrum Rajdhani d) Shatabdi Express

India’s only glass mosque is in
a) Margherita, Assam b) Shillong, Meghalaya c) Loktak, Manipur

d) Sriharikota, Andhra Pradesh

‘Quality first, cost second’ is used by which pen company?

a) Reynolds b) Add Gel ‘ c) Cello d) Oliver

Double fault is associated with which game

a) Hockey b) Lawn Tennis c) Football d) Cricket

How should service requests be completed?
a) In the order they are received with emergencies taking precedence
b) In the order the maintenance supervisor decides he wants them done

c) Easiest to hardest

- d) Hardest to easiest




SEAT NO. :

UNIVERSITY OF MUMBAI
VARE INSTITUTE OF CAREER EDUCATION & 1
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ENTRANCE EXAM
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DATE : 13/07/13 TIME : 11.66AM TO 12.00 NOON MARKS : 50

SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

Q.1. For which of the following disciplines is Nohel Prize awarded?
a} Physics and Chemistry b} Physiology or Medicine
‘ c) Literature, Peace & Economics d) All of the above

-Q.2. FFC stands for

.a) Foreign Finance Corporation
b) Film Finance Corporation

c) Federation of Football Council
LN,

d) None of the above

Q.3. Guarantee to an exporter that the importer of his goods will pay lmmedlately for the goods ordered

by him, is known as
a) Letter of Credit (L/C) b) Laissez-faire
¢} inflation d) None of the above

Q.4. Federanon Cup, World Cup, Allwyn International Trophy and ChaHenge Cup are awarded to

winners of
a) Tennis b) Volleyball c) Basketball . d) Cricket

Q.5.  Fire temple is-the place of worshi‘p of which of the following religion
a) Taoism b} Judaism c) Zoroastrianism (Parsi Religion) d) Shintoism
Q.6.  Film and TV institute in india is located at
" a) Pune (Maharashtra) - b) Rajkot (Gujarat)
¢)-Pimpri (Maharashtra) d) Perambur (Tamilnadu) -

Q.7.  Ecology deals with :
a) Birds - b) Cell formation _¢) Relation between organisms and environment

d) Tissues’

Q.8.  ICAO stands for
' a) International Civil Aviation Organization
b) Indian Corporation of Agriculture Organization
¢} InStitute of Company of Accounts Organization
d) None of the above
(.
. .9. loockatthis series: 7,10, 8,11, 9, 12..,
What number should come next?
a)7 b) 10 )12 d) 13

Q.10. Choose the word which is different from the rest.
a) Kiwi b) Eagle ¢) Emu d} Ostrich

@
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Q.11.  Which of the following was Satyajit Ray associated with? e 8
" a) Classical music b) Commercial art
¢} Filmm Diregtic»rs d} Classical dance

(.12, The members of Rajya Sabha are elected by
a) the people b} Lok Sabha ¢) elected members of the legislative assembly
d} elected members of the legislative council.

(.13, ICIClis the name of » ,
a) chemical industry - b) bureau ¢) corporation d) financial institution

Q.14. The famous Rock Garden is located in which city?
a) Jaipur b) Lucknow ¢} Simla d) Chandigarh

Q.15. The ratio of width of our National flag to its length is
a)3:5 b)2:3 c)2:4 d)3:4

U
Q.16. Dandia is a popular dance of , ‘
a) Punjab b)) Gujarat ¢) Tamil Nadu , d) Maharashtra

Q.17. 20" August is celebrated as _
a) Earth Day b) Sadbhavana Divas ¢) No Tobacco Day

~ d) None of these '

Q.18. Who won the IPL Trophy this year? »
a) Mumbai Indians b) Kolkatta Knightriders
¢) Rajasthan Royals d) Chennai Superkings

Q.19. How long are professional Golf Tour players allotted per shot?
a) 45 seconds b) 25 seconds - ¢} 1 minute d) 2 minutes

(g R
Q.20. Which of the following is NOT written by Munshi Premchand?
a) Gaban b) Godan ¢) Guide " d) Manasarovar

Q.21. “.JPG extension refers qua!ly to what kind of file? ,
a) System file b) Animation/movie file
¢) MS Encarta.document _ “d) Image file

Q.22. The languages used in China are , \
a) Chinese, English b) Chinese, Arabic c) Chinese, French - d) Chinese, Koredn

Q.23. To which king belongs the Lion capital at Sarnath?
a) Chandragupta b} Ashoka c} Kanishka d) Harsha



Q.24.

Q.25.

Q.26

Q.27.

Q.28.
Q.29.
Q.30.

~Q.31.

3.
Q.33.
Q.34.
ass.
Q.36.

Q.37.

Tanmay is older than Chinmay.

Chaitanya is older tha\h‘Tanmaw

Chinmay is older than Chaitanya.

if the first two statements are true, the third statement is

L
a) True b) False ¢)Can'tSay  d) Uncertain

Frame the proper analogy: Window is to pane as book is to
- aj-novel - b} glass ¢} cover d) page

. The cost price of 20 articles is the same as the selling price of X articles. If the profit is 25%, then

the value of %" is :
a) 15 b) 16 c) 18 d) 25

A'sum of Rs. 12,500 amounts to Rs. 15, 500 in 4 years at the rate of simple interest. What is the rate of

interest?
a) 3% b) 4% ¢} 5% d) 6%

Today is Mer)day. After 61 days, it will be
a) Wednesday ~ b) Saturday " ¢)Tuesday  d) Thursday

A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?
a)3.6 b) 7.2 - ¢)8.4 d) 10 :

3889 +12.952 - ? = 3854.002

a) 47.095 b) 47.752 c) 47.932 d) 47.95

How many 3 digit numbers can be formed from the digits 2, 3, 5, 6, 7 and 9, which are divisible by

5 and none of the digits is repeated?

a)5 b) 10 c)15 - d)}20
The square root of 1.5625 is _
a) 1.05 b) 1.25 c)1.45 - d)1.55

If Ais the brother of B;Bis the sister of C; and C is the father of D, how D is related to A?

a) Brother -~ ~ " b) Sister * ¢) Nephew - -d) Cannot be determined

Changiné computer Iénguage of 1’sand 0’s to characters that a perséh_ can pndefstand is

a) Highlight : b) Clip art c) Decode d) Execute

Who was giVen the ‘Dadasaheb Phalke Award’ for the year 20137

a) Amitabh Bachchan b) Lata Mangeshkar ¢} Pran d) Asha Bhosle

Which of the fo”oWing places in India does not have a Stock Exchange?
a) Udaipur b} Delhi ¢) Mumbai d) Ahmedabad

Lo
‘Ringgit’ is the currency of which one of the following countries?

a) South Korea b) Japan ¢) Malaysia d) N‘orth Korea

Syl



(.38.

(.39.

G.40.

Q.41.

Q.42.

Q.43.

Q. 44.

Q.45.

Q.46.

Q.47.

Q.48.

Q.49.
Q.50.
Q.51.

Q.52.

%

The insurance companies collect a fixed amount from its customers at a fixed interval of time.
What is it called?
a) Instaliment b} Premium ¢} EMI d} Service Charge

Ashok Leyland is owned by
ayTatas ' - b} Birlas ¢} Hindujas d) None of these

Under the PIN Code system, the number of postal zones in India are
a)7 b}yg - c)6 d)o

Which film has bagged the National Film Award for best feature film?
a) Anumati  b) Paan Singh Tomar ¢} Dhag d) Spirit

The largest river delta of India is of
a) Ganga b) Kaveri ¢) Godavari d) Mahanadi

Which one of the following is not manufacturing mobile telephone handsets?
a) Samsung b) Nokia ¢) Videocon d) Sony

The relatiohship between the values of 'money the price level in an economy is
a) Direct b) inverse ¢) Proportional d) Stable

2018 FIFA World Cup would be held in
a) France b) Russia c)Qatar . d) Netherlands

Which one among the following is not a mixture?
a) Graphite b)Steel . ¢} Glass d) Brass

ET Now and CNBC TV 18, TV Channels essentially broadcast }
a) English News -b) Bﬁusiness and economic news ¢) Classic English movies
d) Political events and news k

y 3,
AN O

Direct Marketing means

~ a) Face to face marketing _ b) Melas c) Seminars  d) Indoor marketing

With which of the following activities, Golden Globe Awards are associated?

a) Social work b) Films c) Journalism d) Women education:

Third umpire in cricket can decide on ‘
a) Run out b) Stumping ¢ Hit wicket d) All of the above _

Who is the first female Prime minister of UK who recently passed away? .
a) Margaret Thatcher  b) Elisabeth Domitien c) Golda Meir - d) Mary Eugenia Charles

Who is the winner of 2013 French Open Men'’s title?
a) Roger Federer b) Rafael Nadal ¢} Gustavo Kuerten d) Albert Costa

®



Q.53.

Q.54

Q.55.

Q. 56.

Q.57.

Q.58.

Q.59.

Q.60.

Where is India’s first all women post office inaugurated on Women’s day?

a) Mumbai = b} Chennai c) Delhi d) Kolkatta
Google is
a} Virus Programme b} Search Engine ¢} Website dj Hardware

Who elects the Vice — President of India?
a) Elected members of the Lok Sabha and Rajya Sabha

b Members of Lok Sabha and Rajya Sabha

c) Elected members of Lok Sabha, Rajya Sabha.and State Assemb!ies
d) Members of Lok Sabha only

Delivery channels other than Bank counters aré
a) ATM's b} Internet Banking c) Tele banking d) All of these

NASA is related with
a) Russia b) USA ¢) Japan - d) UK

Which of the magazin'e is circulated in Air India till now and will be renamed?

a) Namaskar b) Swagat ~ c) Jetwings - d) Airwings

R.K. Laxman is a well known

(G .
a) Novelist b) Painter ¢) Cartoonist d) Bird specialist

Which was the first cinemascope Film of India? .
a) Kagaz ke Phool b) Jhansi Ki Rani c¢) Lanka Dahan .d) Sholay

o %K 5K & 3k ok ok 3k 3k ok ok sk sk ok ok 3R ok K ok ok Kok ok ok Kok sk ok kok sk ok ok k ok ok
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ENTRANCE EXAM

e,

SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.
L i
1) Who has won the Golden Ball in Champions Trophy 2013?

a) Shikhar bhawan b) Virat Kohli ¢} Ravindra Jadeja d) Suresh Raina

2} Where is India’s first all women post office maugurated on Women’s day? -
a) Delhi b) Chennai ¢) Mumbai d) Kolkatta
3) The International Newspaper which has won four Puhtzer Pnze on April 15, 2013 is
a) The Washington Post | b) The Telegraph c) New York Times d) The Sun

4) The finals of the Uber Cup 2014 and Thomas Cup 2014 are to be held in

a) New Delﬁi ' b) Kolkata ¢) Bengaluru d) Chennai
S) .~ Whois the wipner of 2013 French Open Men’s tit!e?: .
a) Roger Federer b) Albert Costa 'c':) Gustavo Kuerten d) Rafael Nadal
6) ‘ The only Muslim worﬁan to sit en the throne o/f Delhi was l
a) Mumtaz Mahal b) Razia Sultan ) Hamida Banu d) Nur Zahan
7)' A shopkeeeer exbects a gain ef 22.5% on his cost price. If in a week, his sale was of Rs, 392, what .

Was his profit?

a)Rs.1820  b)Rs.70 IRs.72 - a) Rs. 88.25
8) Which.film has bagged the National Fllm Award for best feature fllm? |
a) Anumat;j b) Dhag ¢) Paan Singh Tomar o d) Spmt
9) A, B and C can do a piece of work in 20 30 and 60 days respectively. In how many days can

Ado the work if he is assisted by Band Conevery third day?

a) 12 days _ b) 15 days . ¢) 16 days d) 18 days
10) The boundary line between India and Pakistan on their attaining Independence in 1947 is ca!led
a) Maginot Line b} Durand Line ¢) McMohan Line d) Radcliffe Line

R0,



11)
12)

13)

14)

15)

16)
17)
18)
19)
20)
2i)
22)

23)

24)

]

PR ;
DU &

Which one of the following is not manﬁfbdﬁirmé maobile telephorie handsets?
a)yVideocon b} Nokia ¢) Samsung d} Sony
Under the PIN Code system, the number of postal zones in india are

a)7 K g6 djg

Who won the IPL Trophy this year?

a) Rajasthan Royals ' b) Kolkatta Knightriders

¢) Mumbai Indians d) Chennai Superkings

The ratio of width of our National flag to its length is

a)3:5 b) 2:3 c)2:4 d) 3:4
Google is
a) Search Engine b) Virus Programme  ¢) Website d) Hardware

Which of the following is not a leap year?

a) 700 b) 800 c) 1200 d) 2000

“RK. Laxman is a well known

a) Novelist b) Painter c) Cartoonisf d) Bird specialist
What decimal \ofﬂan hour is a second?

a).0025 ‘b).dzs6 c) .00027 | d).000126°
NASA fs related with/ | |

a) Russia . b) USA | | ¢) Japan d) UK

What percentage of numbers from 1 to 70 has 1 or 9 in the unit’s digit?~ |

a)l b) 14 c)zo' dj21

Whlo amongst the following is the Regulzjtor of lhsuréhce sector in India?

a)IRDA . -b)SEBI c)AMFI . d)RBI

“Yuan'’ is the currency of which of the following countries?

a) South Korea = b) Japan \ ¢) China ‘ d) North Kérea

An accurate clock shows 8 o’clock in the morning. Through how many degrees will the hour hand rotate

when the clock shows 2 o’clock in the afternoon?

a) 144° b) 150° c) 168° d) 180°
Find the odd man out: 10, 25, 45, 54, 60, 75, 80

a) 10 b) 45 c) 54 d) 75

@



- 25)

26)

28)
29)
30)
‘ 31)

32)

33)

34)

35)

36)

37)

Insert the missing number: 2, 4, 12, 48, 240,
.
a) 960 b} 1440 c) 1080 d} 1920

The insurance companies collect a fixed amount from its customers at a fixed interval of time.
What is it called?

a) Installment b) Premium o} EMit d) Service Charge

Who was known as Iron Man of India?

a) Govind Ballabh Pant b) Jawaharlal Nehru c} Subhash Chandra Bose

d) Sardar Vailabhbhai Patel | |
Ashok Leyland is owned by

a) Tatas | « b) Birlas ¢) Hindujas d) None of these

The largest continent in terms of area is

- a) Africa b) Asia " c) Australia d) North America

Which of the following is én indirect tax?

a) Wealth tax b) Corporation tax c) Excise duty d) Capital gains tax

* Who was given the ‘Dadasaheb Phalke Award’ for the year 2013?

a) Amitabh Bachchan - - b} Lata Mangeshkér - ¢) Pran - d) Agha Bhosle
Film and TV institute in India is located at |

a) Pune (Maharash{ré) . b) Rajkot (G’ujarat)

¢) Pimpri (’Mah\a;ashtra) - d) Perambur (Tamilnadu)

Which of t‘he following cities is known as Electronic City of india?

a) Mumbai 3 b} Gurgaon c¢) Bangalore d) Hyderabad
Deb:enture' holders of a company are its

a) shareﬁolders , b) creditors - ¢} debtors - d) directors
Which word does NOT belong with chers? |

a\) inch | ‘ b) ounce ) centimetér d) yard
Embarraséed is fo humiliated as frigf;tened is to

a) terriﬁed_ w b) agitated. ‘ C) courageous v d) reckless
Where is the headquarters of Intel located?

a) Redmond, Washington b) Tucson, Arizon

¢) Santa Clara, California d) Richmond, Virginia

®
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et

40)

41)

42)

43)

44)

45)

46)

47)

48}

The operating systermn called UNIX is typically used for
a) Desktop cor?put'ers b) Laptop computers ¢} Supercomputers
d} All of these
Sachin is younger than Rahul by 7 years. If their ages are in the respective ratio of 7: 9, how old
is Sachin?
a) 16 years ’ b} 18 years ¢} 28 years d} 24.5 years
The first President of Independent !ndfa was
a) Dr.Zakir Hussain ~ b)  Dr. Rajendra Prasadb c) Dr. Radha Krishnra_n
d) Ms Pratibha Patil

VAT means

a) Value and Tine b} Value after Tax ¢) Value added Tax d) Value alter Tax

A company is registered in India under

a) Industrial Law b) éompany acf ¢) Labour Act d) Stock Exchangga ac£
HUL stands for

a) Hindustan Uranium Ltd

b)iHindustan Uruguay Ltd

¢) Hindustan Unilever Ltd

d) Highest Upper limif

The first ever cellular phone service was started on 1" August 1195in ___
. ,

a) New Delhi. b) Bangalore ) . c) Mumbai d) Ko!katta
CRY stands for _

a) Children Require YOu b) Child Relief and You

¢) Children Reliefand You . d) None ofthé above

This year’s IIFA Awards are held in which city

a) Macau ' b) Hongkong‘ c) Singapore w d) USA
The difference between IST and GMT is
a} 8 & ¥ hrs b}5& ¥ hrs c) 6 & ¥ hrs d)7 &% hrs

The square rootof 64009 is

a) 253 b} 347 c) 363 d) 803

)



49y

50)

51)
52)
53)
54)
55)
-
57)

58)

59)

60)

Wimb!edon Cup is associated with
a) Cricket b) Foothall c) Lawn Tennis
The film ‘Kai PQ Che’ was based on which book of Chetan Bhagat?
a) The 3 Mistakes of my Life b} Revolution 2020
d} Five Point Someone
Fourteen commercial banks were nationalized in _
a) 1971 b) 1969 “ €)1980  d) 1962
The name of India’s first aircraft carrier is
a) INS Nilgiri . b} INS Himgiri ¢) INS Kukri
The fourth proportional to 5, 8, and 15 is
a) 18 by24 ¢)19
Find the odd man ouf: 3,5,7,12,17,19
a) 19 b517 05
Capita.l of'Canada is
a) Ottawa b) Ontario ' ¢) Quebec
The monetary unit of Bangladesh is »
a) Dollar ~ b) Taka . ¢) Rupiah
How many times are the hands of a clock at rfght anglé in a day?
aj22 by24 ) 44
The main constituent of vinegar is : |
N L e

a) Citricacid - . b} Ascorbic acid -¢) Acetic acid

The Land of the Midnight Sun is

- a) Norway b) ftaly . : c) Belgium .

The currently running singing reality show of children on Sony TV is

a) Zee Supér Kids b) Indian Idol Junior ¢} Dancing Superstars '

ok o Kk o ok o oK R R RO sk ok ok K ok K oK K ok Ok

&

d) Volleyball

¢} 2 States

d) INS Vikrant .
d) 20
d) 12

d) Russell

d) Tartaric acid
d) 'Russia4

d) Saregamépa



AT NO. ¢

UNIVERSITY OF MUMBAT
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN BUSINESS MANAGEMENT
ENTRANCE EXAM

DATE : 14-Jul-12 TIME : 11.00AM TO 12.00 NOON MARKS : 50
NOTE:

Answer any 50 out of the given questions.

Choose the correct alternative from the given options. No negative markings.

1. Barack Obama, the President of America comes from which of the following American States?
a) Hlinois b} Indiana ¢} Virginia d) California

2. Where is the headquarters of Intel located? -
a) Redmond, Washington b) Tucson, Arizona ¢) Santa Clara, California

d) Richmond, Virginia

3. Which of the following taxes is a progressive tax?

a) income tax b) custom tax c) sales tax d) excise duty
4, After textiles, India's second important industry is

a) sugar b) jute ¢} cement d) iron and steel
5. A file name with extension as VXD represents a

a) test file b) normal application file ¢) device driver d) picture file.
6. The hottest planet is

a) Mercury b) Venus ¢) Jupiter d) Saturn
7. The first airline to allow flyers to surf the net was

a) Austria Airlines b} Air India c) Singapore Airlines  d) Kingfisher Airlines
8. (59)10 is equal to

a)(111011), b) (110011}, ¢} {100001), d}) (100000},



10.

11.

12.

13.

14.

15.

16.

17.

;3

World Computer Literécy Dayis céiebrated%n

a) 1" December b} 2™ December ¢} 3" December 4 4" December

The abbreviation TRAl stands for

a} Telephone Regulatory Association of India
b} Telecom Regulation Artists of India

¢) Telecom Regulatory Authority of India

d) Telecon Regulations Authority of India

How many C’s are there at odd numbered places?
Cacchcacbcachcacbecchecabe

a) 2 b)3 c) 4 d)6

Which one is different from the other three?
a) Moderator . b) Advisor c) Arbitrator  d) Referee
India became independent at

a) 12 PM b) Midnight c)2AM d) 12:10 AM

The unit of electrical resistance is

a) Watt b) Ohm c) Volt d) Fusion

i

if n and P are both numbers, which of the following numbers must be an even number?

ajn+P 2} np 3)np+2 4n+p+1

"India House" is located in

a) Paris b) Mumbai c) London d) Germany

The centre is planning to set up the National institute of Animal Welfare in the state of

a) Bhubaneshwar b) Ludhiana c) Chandigarh d) Haryana

®)



18.

19.

20.

21.

22,

23,

24,

- 25.

26.

27.

Name the magazine which has been circulated on the board of Indian Airlines after replacing

’Swagat.”

aj Darpan b} Arpan ¢} Travel Plus dj World Geo

Government of India formed a new South-Western Command of the Indian land army. With this the
number of commands will be raised to

a)4 b) 5 )6 d)7

Which position did Sachin Tendulkar achieve in the ICC ranking in August 2011

a) Third b) First ¢) Second d) Fourth

The holy book of Parsis is called

a) Bible b) The Zend Avesta ¢) Kuran d) Bhagwad Gita

Who has won the recently concluded Indonesian Open Badminton Tournament ?

a) SariiaMirza b) Li Hi ' ¢) Saina Nehwal d) Serena Williams

The famous Akshardham Temple is situated in the city of

a) Bhavnagar b) Kathiawad ¢} Gandhinagar d) Valsad

The multinational company which has launched ‘Bio Colour Television’ in Indian market?

a) Sony b) Samsung ¢} Videocon d) Haier

If Ais B's wife and Cis A’s sister. D is the father of C, while E is D’s son. What is the relation of E to B?

"a) Brother b) Brother in law ¢} Cousin - d) Father in law

This figure has no angles whereas a triangle must have angles. So this figure is

a) asquare b) arectangle c) a circle d} a parallelogram

‘Power” a new variety of petrol has been introduced in the market by

a) IPCL b) RPCL ¢) BHEL d) HPCL

@)



28.

28.

30.

31

32.

33.

34,

35.

36.

international Monetary Fund (IMF} has projected India’s GDP growth rate for 2010-11 at

a) 9% b) 9.5% ¢) 8% d) 7%

It @ historic judgement the Supreme Court asked the government to link all the rivers by

a) 2013 b} 2012 ¢) 2014 d) 2015

5™ of a month falls two days after Monday. What day of the month will precede 19'" of it?

a) Tuesday b) Wednesday c) Thursday d) Friday

The first General Elections were held in India in

a) 1956 b) 1950 ¢) 1952 d) 1951
Which team won the recently concluded iPL trophy? : N
a) Chennai Super Kings b) Kolkatta Knight Riders c¢) Deccan Chargers

d) Mumbai Indians

Which actress was recently conferred with the National Award ?

a) Privanka Chopra b) Katrina Kéif c) Vidya Balan d) Anushka Sharma

Who was the first President of India?
a) Dr. Rajendra Prasad b} Jawaharlal Nehru ¢} Mahatma Gandhi

d) Smt Indira Gandhi

Who is the author of the book “Revolution 2020”?

a) Chetan Bhagat b) Arun Shourie ¢} Vikram Seth d} Salman Rushdie

Which one of the following is a correct statement?
a) Inflation depletes savings

b) Inflation minimizes profits

¢) Inflation leads to capital formation

d) All are correct.



37.

39.

40.

41.

42.

43.

44,

45.

If PAGES is writtén as SEGAP then STATE will be written as

a) ETATS b) STTAE c) ETSAT d) TATSE

Who won the Miss Universe 20107

a) Diana Hayden b} Sushmita Sen c) Jinena Navarrette  d) Lisa Ray

Which Indian Scientist has had the distinction of receiving not only the Nobel Prize, but also Bharat
Ratna ?

a) Richard E Taylor b} Subramanian Chandrasekhar c) Rabindranath Tagore

d) C. V. Raman

India successfully launched its first moon mission Chandrayaan-1 on

a) 22" October 2010 b) 22™ October 2011 c) 22™ October 2007

d) 22™ October 2008

30 % of x is 72. The value ofk is

a) 216 b) 240 c) 480 d) 640

With what game is the name of Cara Black associated?

a) Baseball b) Lawn Tennis c) Volleyball d) Chess

‘Which country along with India has begun its first ever joint co-ordinated patrols in the Andaman

Sea to check poaching, smuggling and drug trafficking in the region ?

a) Indonesia b) Srilanka c) Philippines d) Mauritius

How many states in the country have been chosen for a pilot project to introduce a new
multipurpose national Identity Card?

The company which sponsored the Wisden Indian Cricketer of the century is

a) Linux b) Electrolux ¢} Apex d) HCL

(5)



46.

47.

48.

49.

50.

51

52.

53.

Which one of the following refers to the nature of money?

aj Credit money b} Paper money

¢} Metallic money dy All of the above

The present value of CRR is

a)4.75% b) 6.78% ¢} 5.25% d} 8.75%

The capital of China is

a) Beijing b) Bogota ¢) Havana d) Nicosia

Khajuraho temples are located in this state

a)Jammu & Kashmir  b) Rajasthan ¢} Kerala d) Madhya Pradesh

The first unified theatre commanded by the Indian Defence Forces has been set at
a) New Delhi - » b) Kolkatta

¢) Andaman & Nicobar Islands d) Chennai

A man drives his car 5 km in east ward direction, he turned right went for 3 km, then he
Turned west and drove for 1 km. How far is he from the starting point?

a) 5km b) 6 km c) 10 km d) 20 km

<

Personal income equals

a) the household sector’s income

b} private income minus saving of the corporate sector minus corporation tax

c) personal disposable income plus direct taxes plus miscellaneous receipts of the Govt.

d) all of the above.
The motto of CNBC India is

a) Programme at its best b) Profit from the best

¢) Profit from it d) Net Profit at best

©



54,

55.

56.

57.

58.

59.

60.

A day is added when one crosses

a) the eguator from South to North

b} 180 degree longitude from East to West
¢} the equator from North to South

d) 180 degree longitude from West to East

Which one of the following is not a famous tourist attraction of Hyderabad?
a) Golconda Fort b) Char Minar ¢) Salarjung’s Museum

d) The Statue of Bahubali

Which is the correct sequence in the food chain?
a) Grass — insect — bird — snake b) Grass — snake — insect — deer

c) Grass — wolf — deer — buffalo d) Bacteria — grass — rabbit — wolf

Which country has recently announced of having built the world’s highest elevated railway line?

a) Japan b) Korea ¢) China d) USA

RBI was established in

a) 1910 b) 1940 ¢) 1951 d) 1935

Vs

Square root 0of 331776 is

" a) 676 . b)576 c) 876 d) 976

Which television show is Aamir Khan associated with?

a) Aap ki Adalat  b) Satyamev Jayate c)Indianldol d) Dance india Dance

XX




Seat No :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
POST GRADUATE DIPLOMA IN BUSINESS MANAGEMENT
ENTRANCE EXAM

DATE : 06-AUGUST-11 . TIME : 11. 00 AM TO 12. 00 NOON - MARKS : 50

SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

Q1. Cartoonist of “You said it” is |
a) Mr. L.K. Laxman b) Mr. R. K. Laxman ¢) Mr, Narayan d) Mr. K.R. Laxman
Q.2.  Current Vice President of India is
a) K R Narayanan b} Pratibha Patil c) Sharad Pawar  d) Dr. Manmohan Singh
- Q3. Whichis the oldest of the four Vedas? |

a) Rig Veda b) AtharvaVeda  c)YajurVeda  d)Sam Veda

Q.4.  India’s national game is
a) Hockey b) Cricket ¢) Football d} Volleyball

Q.5.  Acompanyis registered in lndia under ‘

a) Industrial Law b) Company actk ‘c) Lébour Act d) Stock Exchange act
Q6. VAT means |

a) Value and Time b) Valqe éfter Tax u ,é)}Va!ue added Tax . d) Value and Type
Q.7. Fou_rteen cbmmercial banks werevnatipknaﬁzed in_ v

a) 1971 b)1969 - ,qmm]j@w@w
Q.8. Value o"f‘0.250/0.v0'25 isequalto____ o

210 b2 Cogs i‘ ;tqy3o»

- Q9. Thé difference between IST ar;d G,MT,ié

‘a)88k<’/zhrs , b) 5 & % hrs ‘C)“G&.’/thS d)7& % hrs

Q.10.  RINGGITis associated with |

~ a)Game  bjHongkong . c)Currency  d)Films -




Q.11

Q.12

Q.13.

Q.14.

Q.15.

Q.16.

Q.17.

Q.18.

Q.19.

Q.20.

The only state in india that produces saffronis _

a) Assam b) Himachal Pradesh ¢) Jammu and Kashmir d) Meghalaya

Choose the correct pair:
a) Ellora Caves — Sakas b} Mahabalipuram — Rashtrakutas
¢} Meenakshi Temple — Pallavas  d) Khajuraho — Chandeliars

The average monthly salary of 12 workers and 3 managersina factory was Rs. 600. When one of
the managers whose salary was Rs. 720, was replaced with a new manager, the average salary
of the team went down to Rs. 580. What is the salary of the new manager?

a) Rs. 570 b) Rs. 420 ¢} Rs. 690 d) Rs. 640
The famous Dilwara Temples are situated in |
a) Uttar Pradesh b) Rajasthan ¢) Maharashtra d) Madhya Pradesh
Who is Father (;f Scientific Management? ‘
a) Henry Fayol b) Elton Mayo ¢) Chester Bernard d) FW Taylor
Short term finance is usually for a period ranging up to
a) 5 months b} iO months ¢)12months  d) 15 months
Which is the city linked by the _highest_number of railway zones?
a) Delhi b) .Mur;1bai c) Kolkatta  d) Chennai

The monthly incomes of A and B are inthe ratio 4: 5, their expenses are in the ratio 5:6.
if A saves Rs. 25 per month and Bsaves Rs. 50 per month, what are their respective incomes?

a) Rs. 400 &Rs. 500 b) Rs. 2_40 & Rs.300 c)Rs. 320 &Rs. 400 d) Rs. 440 & Rs. 550

When two di@e are thrown simultaneously, what is the probability that the sum of
the two numbers that turn up is less than 117

a) 5/6 b)11/12  c)1/6 d) 1/12
Four of the following are alike ina Certain way and so form a group. Which is the odd man 2

a) Photograph 'b)Scenefy . ¢) Poster d) Painting e) Picture




Q.21. Freedom of the Press is implied in the right to _
a) equal protection of the laws b} freedom of speech
¢} freedom of association d) work and material security

Q.22.  When a number is divided by 36, it leaves a remainder of 19. What will be the remainder
When the number is divided by 12?

a) 10 b) 7 c) 192 d) None of these

Q.23.  Paper currency first started in India in
a) 1862 by 1542 c)1601  d) 1880

Q.24. What will Rs.1500 amount to in three years if it is invested in 20% p.a. compound interest,
Interest being compounded annually?

a) 2400 b) 2592 c) 2678 d) 2540
Q.25. Which institution is known as the Soft Loan Window of World Bank?
a) IFC {International Financial Corporation) b) IDA {International Development Association)

¢) IMF (international Monetary Fund) d) UN

Q.26. if a merchant offers a discount of 40% on the marked price of his goods and thus
ends up selling at cost price, what was the % mark up?

a) 28.57% b) 40% . €)66.66% d)58.33%

Q.27. When the existing companies raise additional funds by issue of shares to the existing
shareholders in proportion to their existing shareholdings, itis called -

a) Buyback of shares  b) Iégue of shares at premium ¢} Is§ue of shares at discount
d) :RightSha'res issue
', Q28 if nand P are both 6dd numbers, which qf the following numbers must be an even‘number?
a) n+p b) np c) np+2 ‘ d) n+p+1

Q.29.  Fill the missing no. from the alternatives to complete the series —110, 99, 86, 7, 54, 35

a) 81 b) 75 971 dye7




A single letter added to the following words changes entirely their meaning in each case. What

is that letter?

2
Lo
]

INCH, EAR, AIR, ALM
a) T b} R ¢y P d} B

Q.31. Ashu’s mother was three times as old as Ashu 5 years ago. After 5 years she will be twisce as old
as Ashu. How old is Ashu today?

a) 35 years b} 10 years ¢} 20 years d) 15 years
Q.32.  What is the sum of all 3 digit numbers that leave a remainder of '2' when divided by 3?
a) 897 b) 164,850 c) 164,759 d) 149,700

Q.33.  Internal activity of a company is going to be performed according to established regulations.
This assumption is provided as a right by?

a) Doctrine of Indoor Management b) Doctrine pf Constructive notice
c) Doctrine of Ultravires o d) Doctrine of Intravires

Q.34. What is the name of the athlete who refused the national level Arjuna Award for lifetime
achievement in sports?

a)MalkhanSingh b} Milkha Singh ¢) VivekSingh  d) None of these
Q.35 What does PIN stand for in banking?
a) Password Information Number 5) Persovbal identity Number
c) Personal Identification Number d) Password Identity Numberv :

Q.36. - How often between 11°0 clock and 12’0 clock are the hands of the clock together
©atan integral number value? ‘

a) 55 b)56 ¢4 d)s
’Q.37. What is NCA? | .

“a) National Capital Area

b) Nature Conservation Agency

¢} Narmada Control Apthority

d) National College of Aviation




(.38

Q.38

Q.40.

Q.41

Q.42.
Q.43.
’ §.44.
Q4s.

Q.46.

One year payment to the servantis Rs. 200 plus one shirt. The servant leaves after 9
months and receives Rs. 120 and a shirt. Then find the price of the shirt.

a) Rs. 80 " b)Rs. 100 ) Rs. 120 d) Cannot be determined

Which International organization is responsible for ensuring that the safety and security of
shipping and the prevention of marine pollution by ships?

a) International Maritime Organization
b) UN Marine Organization L
¢) Council of Maritime Operations
d) Maritime Safety Organization
5t of a month falls two days after Monday. What day of the mbnth wil! precede 19" of it?
a) Wednesday _ b) Thursday c} Tuesday d) Monday
Disinvestment of shares means—
a) To sale the shares of private company to public
b) To sale the shares of public company to public
¢) To sale the shéres of Government company to public
d) To sale the shares by holding company to its subsidiary company.
With which game is the “Uber Cup" asSoéiated? |
a) Badminton  b) Cricket ¢} Football  d) Volleyball

For which name of rice had an American cbmpany got the patent of Basmati rice?

a) Basmati  ~ b) Ricetek c)Texbmati df None of these.

- Largest i;irod ucer of the app!es'in"‘che W‘ond is

a) USA b) Japan o) Eran‘ée'k d) Italy
" D‘ayi: ﬁight then Dusk:? R

a) Morﬁihg h) Noon 9 Evemng ood) Dawn v
Uﬁder whose captainship did India win the Wérid Cup of 1983?

a) MahendraSingh Dhoni b) Ravi Shastri " ¢)KapilDev  d) Sachin Tendulkar




(.47, WMLF. Hussain was a well known _
a) Politician b} Painter c) Classical singer d} Poet

Q.48.  Alis the mother of D and sister of B. B has a daughter C who is married to F. G is the husband of
A. How is G related to D?

a} Husband b) Son c) Father d) Uncle
" Q.49. Which of the following have written books on managément?
a} Richard Celeste b) Peter F Drucker c) Emilie Zola d) R.L. Stevenson
Q.50. RBI's headquarter is located in _
a) Chennai b) Mumbai ¢) Delhi d} Kolkatta
Q.51. When a computer is switched off, the contents of RAM are washed out.
a) True b)False  c) Depends upon theRAM of the computer d} Cannot predict
Q.52. Computers use the fanguage to process data.
a} Processing  b) Kilobyte c) Bfnary d) Representationalv
Q.53. This year’s lIFA awards were held in which city?
a) Berlin ) b) Toronto k ©¢) Madrid d) Mécau
Q.54. CRY stands for _
a) Children Require you b) Child Relief and You
¢) Children Relief and You d) None of the above ‘
Q.55. The first ever celiular phbne sefvice was ,stérted on 1" August 1195in
. a) New Delhi b) Bangalore " c) Mumba’i d) Kolkatta |
Q.56.  Which film took the largest number of Filmfare awards in 20117 |
é) Udaan | ’b) My Narﬁe iskhan ¢} Débaﬁgg ' d} éand:Baajaa Baabrat

Q.57. Two boys begin together to write out a booklet containing 535 lines. The first boy starts with
_the first line, writing at the rate of 100 lines an hour; and the second starts with the last line -
then writes line 534 and so on, backward proceeding at the rate of 50 lines an hour. At what
line will they meet? o '

.a) 356 b} 277 c) 357 . d) 267




.58 The rotal strength of Lok Sabha is

a) 565 b} 525 c)
Q.59.  HUL stands for-

545 d) 600

a) Hindustan Uranium Ltd
b) part ofa ship
¢) Hindustan Unilever Ltd
d) Highest Upper limit
Q.60. Dronacharya Award is given to

a) coaches and trainers b} athletes ¢) sportsstars  d) none of the above

I




PePBM Seat No :

: UNIVERSITY OF MUMBAT
- GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
POST GRADUATE DIPLOMA IN BUSINESS MANAGEMENT
‘ ENTRANCE EXAM

SECOND ROUND

_DATE : 25-AUGUST-11 __ TIME : 11. 00 AM TO 12. 00 NOON MARKS : 50

SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

Q1. Largest producer of the applesin the world is
a) usAa b) Japan ¢) France d) ltaly
Q.Z. The Mediterranean climate is characterized by—
~a) Hot summers and wet winters
-;‘b‘) Wgrm Winters and cold summers
- ‘c)kRai’n throughc_)ut the year
d) Wet summer and dry winters

Q.3.  In which of the following states of India, the Hindus constitute the third largest religious
community after Christians and Buddhists?

a) Manipur b) Meghalaya  ¢) Mizoram  d) Nagaland . e

Q4.  When does a solar eclipse occur?‘

a) When the moon is between the Sun and the Earth

~b) When the earth is between the Sun and the Moon

¢) When the sun is between the Earth and the Moon

d,) When the sun, Moon and the Earth are not in the same line.
Q.5.  Whatis NCA?

a) Nationai Capital Area

b) Nature Conservation Agency

¢) Narmada Control Authority

d) National College of Aviation



Q.6

Q.7.

Q.8.

Q.s.

Q. 10.

Q.11.

Q.12

Q.13.

Q.14.

Q.15.

For which name of rice hapd'zm Afﬁeritén cémbahy gé)t zh@ ;:aateﬁtof Basmatmcﬂ

aj Basmati b} Ricetek ¢} Texmati d} None of these.

R‘ai‘sing the height of which dam was opposed by Narmada Bachao Andolan?

a): l‘n’dira Sagar (MP) b) Omkareshwar (MP) ¢} Sardar Sarovar (Gujarat) d) None of these
Who is known as Britain’s “lron Lady”?

a) Queen Elizabeth b) Margaret Thatcher ¢} Late Princess Diana d) QueenkVictoria
With which game is the “Uber Cup” associated?

a) Badminton b) Cricket ) Football d) Volleyball

Where did India win its first Gold Medal in the Olympics?

a) Berlin b) Rome ¢) Amsterdam d) London

What is the name of the athlete who refused the national level Arjuna Award for lifetime

achievement in sports?
a) Malkhan Singh b) Milkhva Singh c) Vivek Singh  d) None of these
What does PIN stand for in banking?

a) Password Information Number b) Personal Identity Number

) Personal ldentification Number d) Password tdentity Number . ... ..

Which film took the largest number of Filmfare awards in 20117
a) Udaan b) My Name isKhan ¢} Dabangg d) Band Baajaa Baarat

Which International organization is responsible for ensuring that the safety and security of

shipping and the prevention of marine pollution by ships?

a) lnternationé! Maritime Organization
b) UN Marine Organization

¢) Council of Maritime Operations

d) Maritime Safety Drganization

The number of subordinates a superior can effectively handle is called?

“a) Cooperation b) Coordination ¢) Supervision d) Span of Control



LI Lnternal activity of a company Is going to be performed according to established regulations.

. Thisassumption is provided as a right by?

* 3) Doctrine of Indoor Management b} Doctrine of Constructive notice

¢} Doctrine of Ultravires © d) Doctrine of Intravires

’ Q17 Disinvestment of shares means —

’ak‘)‘,’To sale the sharés of private company to public
’ b) To sale the shares of public company to public
', c’)’To sale the shares of Government company to public
d) To sale the sharés by holding company to its subsidiary company.

’ ;}Q;l& 8 When the existing compames raise additional funds by issue of shares to the existing
arehoiders in proportion to their existing shareholdmgs, itis called =

kBuyback of shares  b) Issue of shares at premium c) lssue of shares at dlséount
: f:f;,(d‘)"i‘fii‘ght'shares issue |
o Q19Who is Father of Scientific Management?
.-a) Henry Fayol b) Elton Mayo ¢) Chester Bernard d) F.W. Taylor
Q.20. thi’ch institution is known as the Soft Loan Window of World Bank? |
et f:;,j';,é.):;Fc-zghternétional Financial Corporation)  b) IDA ‘(intem‘éti'ohéIfﬁé'v'elop'rr'ient Association)
‘ ,c)','I'MF (lnternaﬁonal Monetary Fund) d} UN

: ‘Q.21. Thea average monthly salary of 12 workers and 3 managers in a factory was Rs. 600. When one of
the managers whose salary was Rs. 720, was replaced with a new manager, the average salary
- of the team went down to Rs. 580. What is the salary of the new manager?

a) Rs. 570 b) Rs. 420 ¢) Rs. 690 d) Rs. 640

‘Q.V’ 22. ,The average age of a famaly of 5 members is 20 years. Ifthe age of the youngest member be 10
. years then what was the average age of the family at the time of the birth of the youngest
member?

a) 135 b) 14 c) 15 d)12.5

-
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- 23: Two boys begin together to write out a booklet containing 535 lines. The first boy starts with

the first fine, writing at the rate of 100 lines an hour; and the second starts with the last line
then writes'line 534 and so on, backward proceeding at the rate of 50 lines an hour. At what

line will they meet?

a) 356 b) 277 c) 357 d) 267

Q. 24.'!,1‘ the letters of the word CHASM are rearranged to form 5 tetter words such that none

of the word repeat and the results arranged in ascending order as in a dictionary
What is the rank of the word CHASM?

a) 24 b} 31 c) 32 d) 30

Q. 25. When two dice are thrown simultaneously, what is the probability that the sum of
the two numbers that turn up is less than 11?

a) 5/6 b) 11/12 c)1/6 d) 1/12

Q. 26. If a merchant offers a discount of 40% on the marked price of his goods and thus

- ends up selling at cost price, what was the % mark up?
a) 28.57% b} 40% ) 66.66% d) 58.33%

Q. 27. One year payment to the servant is Rs. 200 plus one shirt. The servant leaves after 9
months and receives Rs, 120 and a shirt. Then find the price of the shirt.

a) Rs. 80 b)Rs. 1000 ¢)Rs. 120 d) Cannot be determined

Q. 28. The monthly incomes of A and B are in the ratio 4: 5, their expenses are in the ratio 5:6.

_ If Asaves Rs. 25 per.month and B saves Rs. 50 per month, what are their respective incomes? © -

"a) Rs.400 & Rs.500 b)Rs.240 & Rs.300 c)Rs.320 & Rs. 400 d) Rs. 440 & Rs. 550

Q.29. How often between 11'0 clock and 120 clock are the hands of the clock together
~ atan integral number value?

a) 55 b) 56 c)4 d)5
Q.30. Whatis the sum of all 3 digit numbers that leave a remainder of '2' when divided by 3?
a) 897 b) 164,850 c) 164,759 d) 149,700

Q.31. What will Rs.1500 amount to in three years if it is invested in 20% p.a. compound interest,
Interest being compounded annually?

a) 2400 b) 2592 c) 2678 d) 2540



R When a nuraber is divided by 36, it ieaves a remainder of 19, What will Be the femainder

“When the number is divided by 127
a) - 10 b} 7 ¢} 192 d} None of these
Q.33. The only state in India that produces saffronis _

a) Assam b} Himachal Pradesh ¢) Jammu and Kashmir d) Meghalaya

Q. 34, Pap’er currency first started in India in
a) 1862 b) 1542 ¢) 1601 d) 1880
Q.35. Short term finance is usually for a period ranging up to
| a) 5 months b) 10 months c) 12 months  d) 15 months
Q.36. The famous Dilwara Temples are sitpated in
: v ~‘av)’:Ut;tar Pradesh b) Rajasthan ¢) Maharashtra d) Madhya Pradesh
Q3. Whi_ch one is different from the other three? |
‘a)"M(‘)‘dérator b) Advisor ‘c) Arbitrator d)>Referee
‘:Q.3‘8‘. ~ F-oyu’r of the following are alike in a certain way and so form a group. Which is the odd man _

a) Photograph b) Scénery ¢) Poster d) Painting e) Picture

Q.39.  Which letter of the alphabet is 8"‘ letter to the r!ght of the letter Wthh is 10‘h to the
left of the last but one letter from the nght : -
ayw b) X c)B dj!

Q.40.  If WHITE is written as YHKVG then EXAM will be written as _
a) HSILGNE b} HSLIGNE ¢) HSLIGEN d) HSLIENG
Q41.  Mr. Xis all the time reading one or the other book because _
a) He has spent ﬁoney on books
5) Heis prepa_rinbg for e;xams
¢) Heis fond of reading

d) He wants to collect knowledge.



Q.43.

Q.44,

Q.45.

Q.46.,

Q. 47

Q4s.
Q.49.

Q.50.

Q. 51.

Q.52

Freedont of the Press is implied in the e"ight z'oi_w
a) equal protection of the laws b} freedom of speech
¢} freedom of association d} work and material security
Which is the city linked by the highest number of railway zones?

a} Delhi b) Mumbai ¢} Kolkatta  d) Chennai

Fill the missing no. from the given alternatives: 44, 40, 34,7, 16, 4
a) 28 b) 26 c)21 d) 19

If Gravity : Pull then Magnetism : ?

a) Earth b) Gold ¢) Attract d) Weight

Choose the correct pair:

a) éllora Caves ~ Sakas b) Mahabalipuram — Rashtrakutas
¢) Meenakshi Temple — Pallavas d) Khajuraho — Chandellars

ifn and P are both 6dd numbers, which of the following numbers must be an even number?
‘a) n+p o b‘) ﬁp ) np+2 d) n+p+1

If south east ‘becomes north, north east becomes west and so on, what will west become?

- a)MNorth East b) South East c)South ™ d) South West

If you are looking at Westminister Abbey, youarein _
a) Sicily b) Rome ¢) London | d) Paris
Who was the first President of India?
a) Jawaharlal Nehru b) Mahatma Gandhi ¢) Rajendra Prasad d) Smt. Indira Gandhi
RINGGIT is associated with
a) Gan;;e. b) Hongkong c) Currency. d} Films
The difféfénce between IST and GMT is

a)8& ¥ hrs  b)5&%hrs )6 &% hrs d) 7 &% hrs

S



G530 Value of 0.250/0.025 is equal to

¢) Value added Tax d) Value and Type

d) 1962

f ,;?{}‘,10 b) 20 )5
QS4VAT means o
k ’a')k'\‘/‘a!ue and Time b} Value after Tax
Q.55. Egurteen commercial banks were nationalized in _
i a) 1971 b) 1969 c) 1980
"C‘l,k;‘r:rent Vice President of India is

Qs6.

a)K R Narayanan b) Pratibha Patil

Q57 ‘A company is registered in India under

Qstrial Law b} Company act

. Qss Capital of Ukraine is _
b} Kiev

Q59 Wthh is the oldest of the four Vedas?

a) R"ig Veda b) Atharva Veda
Q.60.

India’s national game is

- a) Hockey _ . b) Cricket

¢) Sharad Pawar  d) Dr. Manmohan Singh

c) Labour Act d) Stock Exchange act

c) Luiv © d) Kharkiv
c} Yajur Veda d) Sam Veda
¢) Football  “d) Volleyball
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SEATNO:-
UNIVERSITY OF MUMBAI ‘
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
POST GRADUATE DIPLOMA IN BUSINESS MANAGEMENT
ENTRANCE EXAM

_DATE : 23 -08-2010 TIME : 11 AM. TO 12 PM. MARKS 50

SOLVE ANY 50 FROM THE GIVEN QUESTIONS. NO NEGATIVE MARKINGS.

1.

'Cartoonist of “You said it” is

The first President of Independent India was
a) Dr. Zakir Hussain  b) . Dr. Rajendra Prasad ¢)Dr. Radha Krishnan

. Konark Sun Temple is located in the state of

a) Bihar b) Rajasthan ¢) Orissa

Indian National Congress was founded by
a) M. K. Gandhi b) Annie Besant ¢)A. O. Hume

Capital of U.S.A is
a) Chicago b) New York  ¢) Washington d) none of these

Which states have Borders with * State of Goa”
a) Maharashtra, Karnataka, Andhra Pradesh
b) Maharashtra, Karnataka, Kerala

c) Maharashtra, Karnataka

UNO came into existence in
a) 1920 b) 1945 c) 1935

The originator of Hindi as khadi boli is
a) Premchand b) Maithilicharan Gupta c¢) Bharatendu Harischandra

d) DeenDayal Upadhyaya

The total strength of Lok Sabha is
a) 565 b) 525 c) 542

a) Mr. LK. Laxman b) Mr. R. K. Laxman ¢) Mr. Narayan



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

BRIC Countries are

a) Bangladesh, Russia, India and China
b) Brazil, Russia, India, China
¢) Bhutan, Romania, Indonesia, China

Govt of India Nationalized 14 Banks in the year

a) 1951 b) 1969 c) 1971

Khajuraho Temples are located in

a) UP state b) MP State ¢) Gujarat
KWH is unit of
a) Energy b) Light ¢) Heat

Choose the next no. in logical sequence:

16,12,15,11,14,10,13, __

a) 8 b) 9 c)6
16,12,9,7,6
a)6,‘_r - b)b c)7

The difference between IST and GMT is
a)8 &z hrs b)5 & ¥ hrs c)6&%hrs
VAT means

a) Value And Time b) Value After Tax c¢) Value Added Tax
In 2010 India is hosting

a) Asian Games - b) CommonWealth Games ¢) World Foofball Games

Average of 5,6,7,2,1,9,5 is

a)7 b) 5 c)3 d)9
Value of 0.250/0.025 isequalto

a) 10 b) 20 )5 d) 30




22.
23.

24.

25.
26.
27.
28.

29.

30.

The author of the book ‘Sunny Days™is

a) Sunil Gavaskar  b) Vivian Richards c) Gary Sobers

_language to process data.

Computers use the
a) Processing b) Kilobyte  ¢) Binary d) Representational
All of the following are examples of Input devices EXCEPT a o
a) Scanner b) Mouse c) Keyboard d) Printer

In each of the following questions a series is given. Which one of the alternatives
Will replace the question mark (?)

CG, GH, LJ, RM, ?

a) ZR b) YR c) ZQ d) YQ

MN, NM,MNO, ONM, MNOP, ?

a) NPOM b) POMN c) MOPN d) PONM

The first feature film (talkie) produced in India was

a) Hatimtai b) Alam Ara c¢) Pundalik d) Raja Harishchandra

Which of these is a symbol of péace?

a) Lotus ~ b) Two leaves ¢) Hand d) Dove with Olive branch
Which of these is not an Epic? '

a) Mahabharata b) Ramayana | ¢) Odessey d) Mein Kampf

Find the next no. in the series .

48,1 2 20 .-

a) 32 b)34 . -c) 36 d) 38.

Find the missing no. in the series

54,49, , 39,34

a) 47 'b) 44 c) 45 d) 46



31,

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

a) 12 b) 15 c) 16 d) 17
V40 s close to

a)6 b) 7 c)5 d)8

Nano is

a) 10 -6 b) 10 -9 ) 1012 d) none of these
Euro is a currency used in

a) France  b) UK c¢) Denmark

RINGGIT is associated with

a) Game b) Hongkong c) Currency

1 Euro is approximately »

a) Rs. 65 b) Rs. 50 c) Rs. 85

If Blue is called Green, Green is called Orange, Orange is called Yellow, Yellow
is called Black, Black is called Red and Red is called White ; What is the color of

Turmeric?
a) Oféhge b Green c) White' d) Black e) none of these

How many meaningful English words can be formed from the letters “AIPR”
using each letter only once?

a) none b) One ¢) Two - d) Three e) More than three

The capital of Arunachal Pradesh is

a) Imphal b) ltanagar - ¢) Kohima d) Gangtok .

The oldest Indian language is

a) Telugu .b) Hindi c) Tamil d) Marathi
Pen is to poet as needle is to

a) Thread  b)Button - ¢) Sewing  d) Tailor



42.
43.
44.

45.

46.

47.

48.
49.
50.

51.

The members of Lok Sabha hold office for a term of e
a)4 years  b)5years c)6years d) 3 years

Which will be the host country for FIFA World Cup 20147

a) Brazil b) Germany c¢) South Africa d) Spain

If 2x-y=4, then calculate 6x-3y=?

a) 15 b) 12 c) 18 d) 10

India’s oldest running newspaper is

a) The Times of India b) The Hindu ¢) Mumbai Samachar
d) Indian Express

Current Vice President of India is

a) KR Narayanan b) Pratibha Patil ¢) M Hamid Ansari

d) Dr. Manmohan Singh

If the position of Raja is 15" from one end and 13™ from the other end in his
class, what is the total no. of students in his class?

a) 28 b) 24 c) 27 d) 29

Four of the following five are alike in a certain way and so form a group, which is
the one that does not belong to the group?

a) 25 b) 64 ¢) 189 d) 225 e) 121
a) Boy b) Girl c) Lady d) Man e) Child

A prize of Rs. 12000 is to be distributed between no 1, '2, 3 winners in ratio of
3:2:1; How much will each get?

a) 6000, 4000, 2000 b) 6500, 3500, 3000 c) 7000,3000, 2000

d) 6500, 3500,‘2000

Capital of People’s Republic of China is

a) Hongkong b) Shanghai c) Reking  d) Chengdu e) Beijing

A



53.

54.

55.

56.

57.

58.

-59.

60.

Minister for higher educationis -

a) Maran b) Arun Shourie c) Kapil Sibbal

d) Pranab Mukherjee

Uninor is
a) Cellular Operator b) Mobile phone maker
¢) British Company d) Chinese Company

A company is registered in India under

a) Industrial Law  b) Company act ¢) Labour Act d) Stock Exchange act
IPO stands for

a) Indian Post Office b) Initial Public Offer ¢) Indian Postal Order
d) India Public Office

M. S. Swaminathan is

a) Nobel Laureate b) Agriculture Scientist c) Physicist d) Chemist

Largest Selling detergent in India is

-~ a)Surf  b)Rin ¢) Nirma d) Wheel

HUL stands for
a) Hindustan Uranium Ltd
b) part of a ship
¢) Hindustan Unilever Ltd

d) Highest Upper limit

" f PAPER is written asb REPAP then ENGLISH will be writteh as

a) HSILGNE b) HSLIGNE ¢) HSLIGEN d) HSLIENG

P and Q are brothers, R and S are sisters, P’s son is S's brother, How is Q
related to R?

a) Uncle b) Brother  ¢) Father d) Grandfather



